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Question Number : 1 Question Id ;: 91394318325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following indicates the concept of Zone of Proximal Development (ZPD) as
suggested by psychologist Lev Vygotsky ?

Options :

91394372001.

A learner’s brain develops faster in childhood.
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1294375005 A learner learns effectively when it is supported with real life examples.

What a learner can do with help and without help.
91394372003,

51394372004 Lriends interaction is very important for proper development of child.

Question Number : 1 Question Id ;: 91394318325 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Options :
91394372001, t{a; f?[a-[%ﬁ hl qﬁﬁﬁ RISRIES] -Ef a'Eﬁ‘ @ -Fa-a:’m-a E'Pﬁ-“ % 1
91394372002 T et H“ﬁf@@f@w%ﬂﬁ@mmﬂﬁ%maﬁq@mam
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91394372004, G]'U;{ %wma;mﬁq;ﬁmw@w%l

Question Number : 2 Question Id ;: 91394318326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0
Which among the following is the correct set of four fundamental principles of Rabindranath
Tagore’s educational philosophy ?

Options :

. T— Humanism, Commercialisation, Urbanisation, Hinduism

T —— Naturalism, Humanism, Internationalism, Idealism

Globalisation, Localisation, Transformation, Capitalism
91394372007,

Socialism, Spiritualism, Tourism, Commercialism
91394372008,

Question Number : 2 Question Id : 91394318326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

frfafEa § 9 SHE-H1 faeheq WigT R & 3w <3[ % =R Hifds fagikl o 9 92 872

Options :



www.prepp.in .repp

91294272005,

91394372006,

91394372007,

913943720083.

Question Number : 3 Question Id : 91394318327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The field of study of the theory and practice of self-determined learning that focuses on the

importance of knowing how to learn is known as :
Options :
Epistemology

91394372008.

91394272010, Andragogy

Pedagogy

91394372011.

Heutagogy

91394372012.

Question Number : 3 Question Id : 91394318327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

31T FY fHa S &) HEdl W M shisgd w9 9] W-F9ifa Sifirm & =gaer i) fagia &
TSR & T 1 HET Sl 2

Options :
91394372009,
referet Jomet

91394372010

91394372011. ﬁT TR

91394372012 3TTeq - 3T ErTY

Question Number : 4 Question Id : 91394318328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The construction of thought process, which includes remembering, problem solving and
decision making, is called as :

Options :

Andragog
91394372013,

Psychology

91394372014.

Pedagogy

91394372015.

oenitive developmen
913943?‘2016.C gnitive d 5 t

Question Number : 4 Question Id ;: 91394318328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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¥?

Options :

91394372013, Q@'FTPﬁ (mmwra"r)
91394372014. LEIEEIE

eri (forememss)

91394372015.

91394372016, SATTCHD EEARY

Question Number : 5 Question Id : 91394318329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The field of study dealing with methods and principles used in adult education is known
as :
Options :

Pedagogy

91394372017,

Andragogy

91394372018.

Anthropolo
91394372019 PRIOGY

Gerontology

91394372020.
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Question Number : 5 Question Id : 91394318329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tie e ® wea faftrdi ofR fasial 9 deifya s1eaem & 91 Fgaldl © 2

Options :

e ()
Tgmirt (e yomet)
LCISISINGICRIE)
Sidrersit (S-fa=m)

91394372017.

91394272018.

91394372018.

91394372020.

Question Number : 6 Question Id : 91394318330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The four approaches to knowing answers to research questions, according to Kerlinger,
are :

(a) Method of tenacity

(b) Method of intuition

(c) Method of authority

(d) Method of science

(e) Method of creativity

() Method of non-functionality
Code :

Options :

(c) and (d)

91394372021. (a)’ (b)’

(d) and (e)

91394372022, (b)’ (C)’

s1394372023, () (d), (€) and (f)

s1394372024. (©) (d), (e) and (f)

Question Number : 6 Question Id ;: 91394318330 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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(a) FEar Ty

(b) 3T=w fafy

(c) UIfYesR fafy
(d) Togm fafy
(

e)  YSHIcHehd TafY
(f)  A-UpEicHeral fafy

Options :

(a), (b), (c) 3R (d)

91394372021.

(b), (), (d) 3R (e)

91394372022.

01394372023, (P)r (), (€) AR (£)
01394372024, () (), (€) 3R (£)

Question Number : 7 Question Id : 91394318331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

One way to measure the extent to which a measure is free of random error is to compute
its :

Options :

Content validity

91394372025.

Exp erimenter’s bias
91394372026,

Test-retest reliability
91394372027,

™ Demand characteristics

Question Number : 7 Question Id : 91394318331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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91394372025.

TATTeRdl <kl G RO

91394372026.

Q&I G701 ferverd=ird

91394372027,

913943720283. I ” N

Question Number : 8 Question Id : 91394318332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Qualitative researchers criticise quantitative research for its tendency towards :

Options :

91394372029, Emphabm on evidence

Focus on empiricism
91394372030,

91394372031 Reductionism

1304370050 O Dsession with creativity

Question Number : 8 Question Id : 91394318332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

LI E IR H 3N AGHE WY B Y o HROT SHH! e L 2

Options :

91394272029, Higg X Gh?

, FIHEERE TSI

9139437203

91394372021, § :
G TcHehdl o Jfd 3TcfHeh ST

91394372032,

Question Number : 9 Question Id : 91394318333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



www.prepp.in .repp

Your Personal Exams Guide

Correct Marks : 2 Wrong Marks : 0
Which method is appropriate to reduce random error ?

Options :

s1304372033, Oclect large sample size

R— Administer the test after a gap of one week

0139437003 Lrdminister the treatment in the same way every time

N —— Administer manipulation checks

Question Number : 9 Question Id : 91394318333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AgFedeh FfE 1 FH HH o (€ F=farad § 9 oiF 9 fafy soge 872

Options :
<o TS SRR T =

91394372033.

Ueh 918 o YHAAE o T Y01 hl

91394372034.

o13943720zc B S Teh FHM ¥Y H ITER T

91394372036. hrd e

Question Number : 10 Question Id : 91394318334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In relation to code of conduct in research, what does APA stand for ?

Options :

Advanced Psychological Authority
91394372037,

R _ American Psychological Association

91294372035, Australian Pbychologlcal Association

ST Association of Psychological Assessments

Question Number : 10 Question Id : 91394318334 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

MY H AER-Gfied & G3 § APA | 3fqum 2
Options :

01394572057, LSS WIEhIATSTohel SR
91394372038, STHIR WIS THITHTRH
91394372039, e HEehleSThe THRHTe

91394372040, " " ; &

Sub-Section Number: 2
Sub-Section Id: 0913943938
Question Shuffling Allowed : Yes

Question Id : 91394318335 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Read the following passage carefully and answer questions 11 to 15.

For all the disagreement in the industry about the future of aviation, there is perfect accord
on one point : There is going to be a lot more of it. The world’s air passengers flew a combined 7.64
trillion kilometers in 2017. By 2037, that will rise to 18.97 trillion kilometers, with about 40% of the
increase happening within five intra-regional markets : China, India, North-America, Europe and
South-east Asia. That is sparking a battle over the biggest bottleneck holding back this growth :
airports. The governments that still own many of them should be more open to privatisation to
cover a $ 78 billion funding gap in needed capital investments. Airlines, airports’ biggest customers,
see things differently. Costs at privatised terminals are higher and governments should be cautious
about such actions in the interests of expanding the aviation sector as a whole. Privatising an
airport does not necessarily make it more efficient. A study has found there was little difference
between the performance of airports 100% owned by commercially-oriented government
corporations and those majority controlled by private businesses. The key is instead to avoid
structures where the incentives for managers are confused or misaligned, such as where private
companies are brought in as minority investors or where managers are essentially bureaucrats
swayed by political imperatives. There is a better solution out there, but it is not likely to be very
attractive to incumbent airlines, airports, or passengers enamoured of the current generation of
gleaming terminals : build more, cheaper airports.

Sub questions

Question Number : 11 Question Id : 91394318336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the growth rate in aviation apart from the five intra-regional markets ?

Options :
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91394372041, 10 percent

24
91394372042, 20 percent

91394372043, 30 percent

40 percent
91394372044,

Question Number : 12 Question Id : 91394318337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why should the governments be open to privatisation of airports ?
Options :
o1394370045 DECAUSE they own many airports

Because there is a battle for growth
91394372046,

For necessary capital
91394372047,

Ty To limit the government control of aviation mdustry

Question Number : 13 Question Id : 91394318338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How do airlines see the move for privatisation of airports ?

(a) Feel that costs are high

(b) Governments should be cautious

(c) Interest of the aviation sector is important
(d) It decentralises the authority to control
Code :

Options :

(), (b) and (c)

913943720489,

(b), (c) and (d)

91394372050.

(c), (d) and (a)

91294=720%51.
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91394372052, (d), (@) and (b)

Question Number : 14 Question Id : 91394318339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the key for making airports function efficiently ?

Options :

8 B BHES Make private companies as minority shareholders.

o1394570054 L TOVIde misaligned incentives to managers.

o Recognise political imperatives of bureaucrats appointed as managers.

Avoid structures of confused incentives to managers.
91394372056

Question Number : 15 Question Id : 91394318340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is the focal inference of the author in the passage ?

Options :

130437005, L rivate ownership of airports does not mean efficient management.

o13943700sg GrOWth of the aviation industry is distorted.

o1304572050 LIPOIts are not an obstacle to the growth of aviation industry.

Government-owned airports are known for hiech performance.
91394372080, aup ot P

Question Id : 91394318335 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 91394318336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optmn Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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91394372041. 10 !ll‘lu‘l
20 I3l
91394272042, 20

91394372043, 30 SII l 0
91394372044, 40 Hl“l 0

Question Number : 12 Question Id : 91394318337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
LR ol Toamuwmi & SR o1 Tdsar =i o+l =gy 2
Options :
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913943720486,
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Question Number : 13 Question Id : 91394318338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(@), (b) 3R (c)

913943720489,

b), (¢) ¥R (d)

913943?205&.(

(), (d) 3R (a)

91394372051.

(d), (a) SR (b)

91384372052

Question Number : 14 Question Id : 91394318339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

mﬁmﬁwwﬁmwnm@%?

Options :
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91394272053

91394372054,
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91394572055,

91394372056,
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Question Number : 15 Question Id : 91394318340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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91394372058.

TWHR @ Tl faaaai 1 7ok 359 HRfsIeT g S Sl & |

91394372060,

Sub-Section Number: 3
Sub-Section Id: 013943939
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394318341 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Signs are considered as secondary products of :
Options :
s1384375061, MEsSsage

91394370052 hannelisation

Semantic accuracy
91394372063,

91394372064 LDHOtAINMeENt

Question Number : 16 Question Id : 91394318341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hord 1 Tediges 3 HHT ST ¢

Options :

91394372061, R <l

ﬁ i
91394372062, HIEH I
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91394372064,

Question Number : 17 Question Id : 91394318342 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The relational approach in classroom communication comes from :

Options :

S SENSTREE Intra-personal communication

Inter-personal communication
91394372066

S SEAsEEE Organisational communication

91394372068, Mass communication

Question Number : 17 Question Id ; 91394318342 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

eI G0 § HeeTeas YN fhad 9 2Idr 82

Options :

91394372085, 3“'“‘%3% HYT
AR fFash Y9l

91394372066,

91394372067, SHCRISES Elil M

91394372068. S

Question Number : 18 Question Id : 91394318343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Classroom speech is considered as a :

Options :
91394372069 1 echnical medium

91394372070, Non-technical medium
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a1394370071. Mass medium

91394372072, Unorganised medium

Question Number : 18 Question Id : 91394318343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HETTd U] hT ST | STl & 2

Options :
deheilehl ATEH

91294=720€83.

91394372070. 'ﬁ'{—Elili Th! HIEAH

91394372071, ST HIFH

91394372072. 54 Ila*l HI=TH

Question Number : 19 Question Id ;: 91394318344 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0
In a classroom, communication becomes effective when participants are :

) Active
) Empathetic

T

c) Heterophilous
d) Homophilous
e) Silent

(f)  Uncritical
Code :

Options :

(a), (b), () and (d)

91394372073

s1394372074, (D) (€) (d) and (e)

s

(a), (b), and (d)

91394372075.

s1394372076. (O (€) and (f)
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Question Number : 19 Question Id : 91394318344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teh e § Y9 YU B @ Afe qfaym -
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(b) FHMH{TRE &

(c) Towmfet di

(d) wmfet &

() THE
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che

Options :

(a), (b), (c) 3R (d)

91394372073.

(b), (), (d) 3R (e)

91394372074,

(a), (b), 3R (d)

91394372075.

(9), (e), 3T (f)

91394372076,

Question Number : 20 Question Id : 91394318345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The information seeking strategies of students are :

(a) Entropy-oriented
(b) Overt

(c) Non-functional
(d) Indirect

(e) Third party

(f) Testing
Code :
Options :

91394372077, (), (b), (d) and (e)
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91394372078, (b), (), (e) and (f)

(b), (d), (e) and (f)

91394372079.

s1394372080. (&)s (B), (c) and (f)

Question Number : 20 Question Id : 91394318345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

BT HT G TSV I 1 Jioadl arl &
(a) TeitgT-39E

(b) T
(c) SThMIHS
(d) 3TTaY

(e) T U
(f) Td&m

he

Options :

(a), (b), (d) 3R (e)

91294272077,

(b), (), (e) 3R (£)

913943720783.

91394372079, (b), (d), (e) sﬂ-{(f)
91394372080. (a), (b), (c) 3R ()

Question Number : 21 Question Id : 91394318346 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

If DIVE is coded as IMYG, then the code for TAKE will be :
Options :

91394372081. XFMG
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91394372082. YENG
91394372083. TEMG

91394372084. XENG

Question Number : 21 Question Id ;: 91394318346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

HﬁDNEHﬁIMYG%WﬁWWW%?ﬁTAKEEH@W

Options :

91394372081. XEMG

913943720382. YENG

TEMG

91394372083.

XENG

91394372084.

Question Number : 22 Question Id : 91394318347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The next term in the series is :
56, 40, 27, 17, 10,

Options :

91394372085. 6

91294=720E8E. 7

8

91394372087.

91394372088. d

Question Number : 22 Question Id : 91394318347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
39 Q@ sl T HI9T :
56, 40, 27, 17, 10,

Options :
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91394372085. 6

91394372056. /

913942372087. 8

91394372088. S

Question Number : 23 Question Id : 91394318348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The next term in the letter series is :

ME, KH, IK, GN, IS ¢

Options :

91394372088. EQ

91394272090, CK

91294=72091. BD

91394372092, DF

Question Number : 23 Question Id ;: 91394318348 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

0 GGl hl YU Elﬂﬁf'l{
ME, KH, IK, GN,

Options :

=4
91394372088. EQ

91394372090, CK

91394372091, BD

91394272092, DF

Question Number : 24 Question Id ;: 91394318349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Choose the word which is different from the rest.
Options :

Eyes

91394372083.

91394372094 1NOSE

egs
91394272085, L &

Tk

Question Number : 24 Question Id : 91394318349 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation ; Vertical

Correct Marks : 2 Wrong Marks ;

ﬁﬁﬁi’@ﬂﬁ@ﬁﬁﬁ?@ﬂﬁq

Options :

e

91394272093 SaliC)

91394372094, ITch

91394272095 DLy

91394372096, 214

Question Number : 25 Question Id ;: 91394318350 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
Ram said, “I am the only child of my mother”. Next he pointed to a boy and continued,
“This boy is the husband of the grandchild of my mother”.

How is Ram related to the boy ?

Options :

91394372097, Father

Grandfather

913943720983.

91394372099 Drother-in-law

91394372100, L ather-in-law

Question Number : 25 Question Id : 91394318350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
T A %3, T STg 1T 1 TRl dcieh g 39 9IG IEA Tsh Tgeh shi AR TN HId gC Fal, ' I8
SH B A/ % U H Ufa § 1

Y 1 ST TSF U 1 oY § 2
Options :

91394372097, I Il

91294272098, 1al

-3l

91394372098.

91394372100, hle{-g1-dl

Question Number : 26 Question Id : 91394318351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two premises (a) and (b).
Four conclusions are drawn from them. Select the code that states validly drawn conclusion(s)
[taking the premises individually or jointly].

Premises : (a) Some women are teachers.
(b) All teachers are hard-working.
Conclusions :
(1)  All hard-working people are teachers.
(i) All teachers are not women.
(iif) Some hard-working teachers are women.
(iv) Some women are hard-working.
Code :
Options :
91394372101. (I) and (Il)

(i) and (i)

91394272102

(1) and (1v)

91394372103.

(111) and (1v)

91394372104,

Question Number : 26 Question Id : 91394318351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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9 1 SMER-a1 U T (a) 3R (b) |
78 § =R frepd 3gyd o T €)1 39 e 1 gfte S freed (o) & sfed w1 A seorm e T
€ [STTYR-aT9 i Uhel &9 § I1 G €9 9 od g |
JMATaTHT :  (a) TS Afeamd fineres &
(b) Hft forerer e €1
frerd . () weft A | e €
i) |l fneres wfgemd 7 €
(i) Fo T e afeard €1
(iv) FS Al HETl € |

%<
Options :

(i) 3R (i)

91394272101.

(i) 3T i)

91394372102.

(i) 3R (iv)

913942372103,

(iii) 3R (iv)

91394372104,

Question Number : 27 Question Id : 91394318352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which of the following arguments the conclusion can be no more than probable ?

Options :

9123942372105, Imp licative

Analogical

91394372106.

91394372107, Deductive

91394372108, Demonstrative

Question Number : 27 Question Id ;: 91394318352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frfafea § 9 fog g & ferd dursg 8 sty T8 21 T 82

Options :



Www.prepp.in .repp
Your Personal Exams Guide
91394372105, g

RIS
IBULEIRIED

91394272107,

91394372106.

91394372108.

Question Number : 28 Question Id : 91394318353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“To slow a beast, you break its limbs.

To slow a nation, you break its people.”

- Identify the argument involved in the above :

Options :
91394372100, INductive

91394372110, Deductive

91394372111. Analoglcal

I ma——— Demonstrative

Question Number : 28 Question Id : 91394318353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“foret sl o] Rt TIfa BfgH HA % faw iy 35es 3T o dred € |
ot T Rt WIfd Ak o for g ol & il § <O S id g 1"
Iuger H gfefed ek 98y

HITHATHh
91394372109. ¢

91394372110, (TS
(..
91394372111 G RITHA
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91394372112.

Question Number : 29 Question Id : 91394318354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“The relation that exists between Premises and Conclusion is that of logical necessity” - is the
case with which of the following arguments ?

Options :

9129427211z Inductive

91394372114, Deductive

91394372115 Lemonstrative

o1394372116, SrNalogical

Question Number : 29 Question Id : 91394318354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“ YA 3R Freerd & 0 fammm ey difehes STaEehdl 8 - I8 99 FefaiEd 8 § 59 7%
BRI E?

Options :

HITHATHh
91394372113, ¢

91394372114. [ﬁ:lq:ucqm
91394372115. Slaﬁiillcl:lali

91394372116. E 3

Question Number : 30 Question Id : 91394318355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Among the following statements, two are contradictory to each other. Select the code that
represents them.

Statements : (a) All surgeons are doctors.
(b) Some surgeons are doctors.
(c) Some surgeons are not doctors.
(d) No surgeons are doctors.

Code :
Options :
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91394372117 (@) and (b)

a) and (d)

91394372118. (

s139437211¢, (D) @0 (d)

b) and (c)

91394372120. (

Question Number : 30 Question Id : 91394318355 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

frfafea wuFi § 1 FoA T TR S WER fais 81 3= F1&iia @ 9 $2 g
FET:  (a) G wAfAfheen fafwee €|

(b) TS TATaheds fafhed® © |

(c) FS veatafhs fafrces T8 €

(d) i Aafcheas fafhae & 2|

e

Options :

(a) TR (b)

91394372117.

(a) 3TR (d)

91394372118.

(b) ¥R (d)

913343721189.

(b) 3R (c)

91394372120.

Sub-Section Number: 4
Sub-Section Id: 913943944}
Question Shuffling Allowed : Yes

Question Id : 91394318356 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ; No

Question Numbers : (31 to 33)
Question Label : CDmpI'EhEHSiOH
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Monday Tuesday Wednesday
Time Distance Time Distance Time Distance
Cab (Hours) (kms) (Hours) (kms) (Hours) (kms)
A 16 656 12 480 10 410
B 10 700 14 490 18 720
£ 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

The table given above gives the number of kilometers travelled and the number of hours

taken by five cabs A, B, C, D, and E. Data on three days is given - Monday, Tuesday and
Wednesday.

Use the above data to answer the questions given below.

Sub questions

Question Number : 31 Question Id : 91394318357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The average speed of cab A for the three days taken together is approximately :

Options :

91394372121, 10 km/hr

20 km/hr

91394372122

30 km/ hr

913394372123.

40 km/hr

913394372124.

Question Number : 32 Question Id : 91394318358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference between the average speed of cab C and cab E on Monday is :

Options :

91394372105, 11 kms/hr

91394372126, 21 kms/hr

31 kms/hr

913894372127.

41 kms/ hr

91394372128,

Question Number : 33 Question Id : 91394318359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Which cab travelled the most in the three days taken together ?

Options :

912942721283, B

91394372130. C

91294272121, D

E

91394372132.

Question Id : 91394318356 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 33)
Question Label : Comprehensi-:}n

? ;
g1 < 1Y = g1 =y

& (i) | (fH®) | (s@id) | (e ®) | (RHE) | (. H)
A 16 656 12 480 10 410
B 10 700 1 490 18 720
¢ 11 FaTA 13 650 16 640
D 1.2 744 15 825 14 840
E 14 826 14 728 12 840

SYYF qlferhT B AN & fhaHieX IR 9 A, B, C, D, 3R E §RI UHaR, HTAER 3R 96K &l 99
fepu w3 = dEm B
ST 3fiehel F1 STAN HLd g = U 7T g9+ & SR e |

Sub questions

Question Number : 31 Question Id : 91394318357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fel TR el ‘A’ 1 i Tl b1 3IEd TIfd ST |

Options :

10 TowearHTeR gfa e

91394372121.

91394372122 20 foraieR ufd =a
91394372123, OV feretteX ufd a1



www.prepp.in .repp
40 TerearTeX gfd e

91394272124.

Question Number : 32 Question Id : 91394318358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR Sl e C 3R Fd E &1 39d g | faamn faw 272

Options :

91394372125, 11 [ETGIEICAN I REA
21 feperHieR gfd s

91394372126

- 31 TR gfd e
41 TereATHteX 9 siel

913894372127

91394372128

Question Number : 33 Question Id : 91394318359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
< fortl | fore el grT Herifyes g 99 &1 T2

Options :

913394372128. B

91394372130, C
D

91394372131.

(1

91394372132.

Sub-Section Number: 5
Sub-Section Id: 013943941
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 91394318360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following diagrams indicates the best relation between India, World and
New Delhi ?

Options :
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91394372133.

©

O O

91394372134,

91394372135. O

91394372136.

Question Number : 34 Question Id : 91394318360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafed 3 & fora e | ur, fova 3R 6 foed! o «fte weliaa deiy = frefia foa mn 2

Options :
O

91394372133.

©
91394372134,

O O
91394372135. O
91394372136.

Question Number : 35 Question Id : 91394318361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following diagrams best represents the relationship between, family, family
member and domestic help ?
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Options :

91394372137,

91394372138,

91384372139,

91394272140, C) () ()

Question Number : 35 Question Id : 91394318361 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafed § & foa varfes § qRear, aism R =] e/ AHUH & o doY 6l gdiad &9 5
frefa foman T 2

Options :

91394372137.
91394372138,
91394372136.
913594372140.

Question Number : 36 Question Id : 91394318362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a Network Topology ?

Options :
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91394372141

913394372142

913394372143.

91394272144,

‘Ring

Bus

Star

_ Chain

prepp
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Question Number : 36 Question Id : 91394318362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

frfafea § 9 SF-91 e giftfa (aerst) 7@ g2

Options :

91394372141.

91394372142.

T
<A

91394372143. N

913394372144.

E3-AR

Question Number : 37 Question Id : 91394318363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Match the following :
-1

a) DBrowser

List
(
(
(
(

(a)

Options :

91394372145.

91394372146.

(b)
(i)

L

(111

(c)

c) Operating System
d) E-mail

The correct code 1s :

(d)

@) (@

(iv)

(11)

b) Programming Language

(v)
(1)

List - II

Outlook

DOS

Internet Explorer

Fortran
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91394272147, (H) (Hl) (IV) (1)

91394372148. (IV) (Hl) (H) (1)

Question Number : 37 Question Id : 91394318363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fr=fafea o1 fiaem Y

et - 1 T - 11
(a) R (
(b)  shenfi S (
(c) SR faew (i) 3T THAAR
) i (
T F T -

(@ (b) () (d)

Options :

o1z04372145, 1) () (1) ()
91394372146, (i) (v) (@) ()
o1394372147. W) () (v) (D)

91394372148. (IV) (111) (II) (1)

Question Number : 38 Question Id : 91394318364 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following denotes the Internet hardware requirements ?
(a) Hub

(b) Bridge

(c) Router

(d) Gateway
(e) Modem
Code :

Options :

91394372149, ejonty

(), (b) and (e)

91394372150

(b), (c), (d) and (e)

91394372151.

a1304372152. (&) (b), (0), (d) and (e)

Question Number : 38 Question Id : 91394318364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fr=fafed § 9 SF-91 S22 SEaaR SMavIshdisii hl Sl € 2

(@) =
(b) T
(c) W3S

(d) =
(e) HIEH
che

Options :

913943721489. (E)

91394372150, (), (b) 3R (€)
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913394372151.

(a), (b), (c), (d) ¥R (e)

913942372152

Question Number : 39 Question Id : 91394318365 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A set of rules used In communications Iin a network is called :

Options :
91394372153, 1nterface
91394372154, Lrotocol

91394372155, Address

s1304372156, Reference

Question Number : 39 Question Id : 91394318365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Uk 2ah o Y0 H Yo Fam & GY=ad S Hgl Sl © :

Options :

91394372153. :
91394272154 ‘” EI hTc]

91394372155. ' g
TH{E

91394372156.

Question Number : 40 Question Id : 91394318366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are pointing devices ?

(a) Trackball (b) Touchscreen
(c) Graphic Tablet (d) Joystick
Code :

Options :
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91394372157, (a) Olﬂ}’

a) and (d)

91394372158. (

sisgasraisy A () and (d)

(), (b), (c) and (d)

91394372160.

Question Number : 40 Question Id : 91394318366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafafed § § HA-9 @R U €2
(a) ST (b) TIGRA
(c) Witk Colere (d) Sifafes

Options :

I (a)

913394372157.

(a) 3R (d)

913394372158,

(a), (b) 3R (d)

913943721589,

(a), (b), (c) 3R (d)

91394372160.

Question Number : 41 Question Id : 91394318367 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A study was carried out on the drought resilience in India. Which of the following States

show highest level of handling drought ?
Options :

Telangana, Andhra Pradesh, Tamil Nadu

91394372161.

91394372160 Odisha, Karnataka, Kerala

Sikkim, Punjab, Arunachal Pradesh

913942372163
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91394379164 Jharkhand, Chhattisgarh, Jammu and Kashmir

Question Number : 41 Question Id : 91394318367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

R § ga Fefd wImeH o 91 | Tk 3153A o | Fefafed | 9 6 T ° g § e
Heriferer T @ T 8 2

Options :
JATHT, 3TY 9<T, dfHerg

91394372161.

91394372162, stife, hrllcn, Rl

91394372163. mm? Wr B ;laal

91394372164.

Question Number : 42 Question Id : 91394318368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The most harmful types of environmental pollutants are :

Options :

91394372165, Human organic wastes

. Wastes from faecal matter

91394370157 LNon-blodegradable chemicals

T m— Natural nutrients present in excess

Question Number : 42 Question Id : 91394318368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i BfThReS qaeRoNg Tguh € :

01394372165, TG wid Y
fass1 =1 3T9a=

91394372166,
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91394372167.

Qichicieh UIoeh cal bl ST

9139423721€8.

Question Number : 43 Question Id : 91394318369 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (
Assertion (A) : Natural gas is a very attractive eco-friendly fuel.

Reason (R) : It produces few pollutants and less carbon dioxide per unit energy than
any other fossil fuel on combustion.

Code :
Options :

o Both (A) and (R) are true and (R) is the correct explanation of (A).

01304579170 Both (A) and (R) are true and (R) is not the correct explanation of (A).

91394372171 (A) 18 true, but (R) is false.

91394370172 (A) 18 false, but (R) is true.

Question Number : 43 Question Id : 91394318369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ATURAT (A) : Ui 79 dgd MHYS TAERI-JAH 87 T |

SIUT (R) : g5 T& % UYA fhdl 31 Siamed 4 i 3Tl A YU acd 3R Ufd Ife
Sl § H he SHATTIRS 349 2l 2|

e
::t;:;?zlsg_ (A) 3R (R) S |t € 31 (R), (A) 1 Hl =AreAT T
eoearor g (A) 3R (R) T T E SR (R), (A) FT T RS T T
1504572171, (A) T, T (R) T €1

o1s0urary, (A) T E, T (R) W& B

Question Number : 44 Question Id : 91394318370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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What percentage of energy coming from the Sun is re-radiated towards the space ?
Options :

w 0
913942372173, 15%

25%
91394372174

0
91394272175, 307%

0
91394372176. 50%

Question Number : 44 Question Id : 91394318370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

94 9 I9Yd Sl 1 Toha wfaerd siafier ¥ g faferfia 2 272

Options :

0
91394372173 15%

0
91394372174. 25%

0
913394372175. 30 /o

0
91394372176. 50 %

Question Number : 45 Question Id : 91394318371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
As per Central Forestry Commission (CFC), how many forest types are found in our

country ?
Options :

91394272177, 15

20

91394372178.

91394372179, 28

16

91394372130.

Question Number : 45 Question Id : 91394318371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

91394372177. 15

20

913394372178.

913942721783, 28

16

91394372180.

Question Number : 46 Question Id : 91394318372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of open universities and directorates of distance education whose courses are
recognised by UGC as on August 9, 2018, is :

Options :

91394=72181. 49

oS3

91394372182.

_
91394372183 OO

91394372184. 62

Question Number : 46 Question Id : 91394318372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

9 3T, 2018 ht Teufd & STER S, g wr=ran I g3 fren feemerdi $iX gor forgafammeri
ﬁﬂ'@ﬂ%

Options :

91394372181. 49

91394372182, OO

58

91394372183.

62

91394372184,  ~

Question Number : 47 Question Id : 91394318373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
Match the following :

List - I List - 11
(a) Open University () Odisha State Open University, Odisha
(b) Dual Mode University (i) Amity University
(c) Mixed Mode University (iii) Indian Institute of Science, Bengaluru
(d) Deemed University (iv) University of Mumbai, Mumbai
(e) Specialised University (v) School of Planning and Architecture, New Delhi
Code :
(@ () (© (d (e)
Options :

91394372185. (111) (H) (V) (1) (IV)
91394372136. (1) (IV) (H) (lll) (V)
91394372187. (V) (1) (IV) (H) (Hl)

stsguzrorge @) @) () (1V)gul)

Question Number : 47 Question Id : 91394318373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

-1 T - 11
(a) e Torvafa=nea™ () 3fewm A g favatfaamed, ffeem
(b) 5d W&y favafaame (i) Tl favafoamem
(c) Tufya @ey favafarmea (i)  WRAHE foOqE &I, ST

(d) wifa fagafarme™ (iv) Y2 fogafo=med, g==
(e) Tovroaan Ui favafaame™m (v) TS w6 argeren fammem, = foooi
he

(@ (b) () (d) (e

Options :

o13943721ss, @D (@) (v) (@) (W)
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91394372136. (1) (IV) (H) (111) (V)

91394372157. (V) (1) (IV) (]_I) (U_l)

91394372188, i) (@) @ @) (v)

Question Number : 48 Question Id : 91394318374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which private institutions in the following list have been granted the status of ‘Institutes of
Eminence’ by the MHRD ?

(i) BITS, Pilani

(i) MAHE, Manipal

(i) Symbiosis, Pune

(iv)  Amity University, Noida

Choose the correct answer from the code given below :

Cade:
Options :
91394370150, O and ()
91394370190, O and (i)
91394370191, O and (i)
(ii) and (iv)
91394372192,

Question Number : 48 Question Id : 91394318374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

.G AR, g Fefafan o= 3 s wgde wen i s ot e’ Rea i wiwh
ARIES

() i@ (dfamsde.), e
() wWuwEs., e

(i) ToramitEE,

(iv) e ghafid, e

= fou e e # @ o WA g
C T4

Options :
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i) (i)
91394372189, W

91394372190, A

91394372191, i i

i) T (iv)
91394372192, @ ¢

Question Number : 49 Question Id : 91394318375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
One of the first states to establish a higher education council was :

Options :

Sikkim

9133943721893.

Goa
91394372194,

91394370195 ANdhra Pradesh

Jammu and Kashmir

91394372196,

Question Number : 49 Question Id : 91394318375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

ToR o e Y T R A TRl Tl A A uw

Options :

91394372193. |E|I S

91394372194, " 1l

91394372195. HIY HRT

S 3R HIHR

91394372196, =

Question Number : 30 Question Id : 91394318376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
State higher education councils are established under the instruction of :
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Options :

NITI Ayog

91394372197, O

91394272198, RUSA

CABE

913943721989.

91304372200, L USA

Question Number : 50 Question Id : 91394318376 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

U= S=aa T¥neT afiug st TRIae fohdeh 3Tew o ST Bl € 2

Options :

91394372197. i”‘l 3l ”l

913943721983. il

WS

913943721989.

91394272200. 1‘

Paper II
Group Number : 2
Group Id : 913943242
Group Maximum Duration ; 120
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 2010

12 Home 5cience

Section Id : 913943242
Section Number : 1

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 97
Number of Questions to be attempted: 97

Section Marks: 200
Display Number Panel: Yes

Group All Questions: No
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Sub-Section Number: 1
Sub-Section Id: 0139439472
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394318377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The RDA of protein (ICMR, 2010) for lactating mother (0 — 6 months) is

Options :

91394372201, 80
91394372202, 0 80
91394372203 80
91394372204 80

Question Number : 51 Question Id : 91394318377 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gt ATt (0 - 6 WiR) % fou W 6 veafaa wrn (e dhw.a,, 2010) ®

Options :

91394572201, OB TN
91394572202, 0 T
51304372503, 8 TVRA
91394572004, |4 TN

Question Number : 52 Question Id ;: 91394318378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
The isoelectric point of milk which gives maximum coagulant is

Options :

91394372205, o0
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91394372206, O
91394372207, > 2
91394372208, °°

Question Number : 52 Question Id ;: 91394318378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;
3y 1 FrgaAfR dise g w safermon wha 3 2

Options :

91394372205, °°

91394372206, O

91394372207, > 2

91394372208, °°

Question Number : 53 Question Id : 91394318379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The ‘HbAlc¢ level above which a person is diagnosed as Diabetic is

Options :

> @-
91394372209, =

= 7.
91394372210. e

> @-
91394372211. s

> @-
91394372212. 6-8%

Question Number : 53 Question Id : 91394318379 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

e dLe . H 98 A e IR AT wyE ] 7% 7E1 ST 8

Options :
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> @-
91394372209, =

= 7.
91394372210. e

> @-
91394372211. s

> @-
91394372212. 6-8%

Question Number : 54 Question Id : 91394318380 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
Food shields are used in

Options :

91304370013, lestaurants

Hospital in patient tray service
91394372214, o pa Y

Airline catering
91394372215,

9139437001g, Cafeterias

Question Number : 54 Question Id : 91394318380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

%S Yee =i @ T 2
Options :

913942372213, %

eqarer B weff wésit <t ¢ afda 4
91394372214

gars 3TEl % @H-IE |
91394372215,

91394372216. "

Question Number : 55 Question Id : 91394318381 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The psychological study of the single case is termed as
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Options :

Normative approach
91394372217.

Idiographic approach
913894372218. R e

Longitudinal approach
91394372218%. & B

Holophrastic approach
91394372220,

Question Number : 55 Question Id : 91394318381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tehed Hd hl HATIS I Faalrdl 8

Options :

91394372217.

913942372218.

91394372219.

913942372220.

Question Number ; 56 Question Id ;: 91394318382 Question Type : MCQ Option Shuffling ;: Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Midlife transition in which fertility declines and brings an end to reproductive capacity in
women and diminished fertility in men is called

Options :

91394370021, Clmacteric

Menopause
91394372222,

Spermarche
91394372223,

91394370004 Menarche

Question Number : 56 Question Id : 91394318382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrone Marks :
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Options :

FATFHDC [h

91394372221.

91394372222.

91394372223,
91384372224,

Question Number : 57 Question Id ;: 91394318383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
The full form of ILGWU is

Options :

9139437905C International Law and Garment Workers’ Union

91394372056, International Labour and Government Workforee Union

91394372227, Indian Law and Government Welfare Union

91394379058 International Ladies’ Garment Workers’ Union

Question Number : 57 Question Id : 91394318383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
g ua. of . gee g, Pl ¥ R
Options :

Ser o U e w4 e

91394372225

AT A TS THHE ThBId g
91394372226,

HECEIC I RERI L L T Rl (ER
91394372227 <

Szare S TR S e

91394372228
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Question Number : 58 Question Id : 91394318384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following methods of producing textured filament yarns does nof require the
property of thermoplasticity ?
Options :

Air jet
91394372229

91394370030, T alse twist

Crimp gear u
91394372231. s -

Knife edge
91394372232,

Question Number : 58 Question Id : 91394318384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

cAu=s fhame aF s At frfafas 3§ 1 fea fafe 3§ ettt < i f srawasar 78
73t 2

Options :

S
91394372229,

wiew feaee

91394372230.

913942372221. B ek 31

91394372232. -

Question Number : 39 Question Id : 91394318385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is a Human Resource ?

Options :

Fringe benefits
91394372233,

Space
91394372234, s
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91394372035, 1me

91394372036, ' Ater

Question Number : 59 Question Id : 91394318385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefefas 8 O S-at v ara gaeE R 2

Options :

91394372233. s

91394372224.

91394372235.

9139437223, e

Question Number : 60 Question Id : 91394318386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is a Fayol’s principle of management ?
Options :

91394370037 lemuneration

Guiding
91394372238,

Forward looking
913943722389,

Continuity
91394372240,

Question Number : 60 Question Id : 91394318386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafafiaa 1 @ $a-a1 w6 $E % Yaua 1 g @ 2

Options :

913942372237.
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AriesH

91394372238.

S DI

913943722389,

91394372240.

Question Number : 61 Question Id : 91394318387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
National Rural Livelihood Mission of Government of India is run by

Options :

The Ministry of Human Resource Development
91394372241.

The Ministry of Women and Child Development
91394372242,

The Ministry of Rural Development and Panchayati Raj
91394372243, 3 - .

The Ministry of Skill Development for Rural Areas
91394372244,

Question Number : 61 Question Id : 91394318387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WG TR 1 Ui reftor sarsitferent frem oo g wreman et & 2
Options :
91394372241, T e i e

afeet v 911 o g
91394572242, A

9139432372243, ¥ o

yrfior 2t % fore wtwre faema e
91394372244,

Question Number : 62 Question Id : 91394318388 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the following grants protection to an entrepreneur from anyone else making,
using and selling the identified innovation ?

Options :
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Utility Patent
91394372245,

Design Patent
91394372246,

91394370047 Tiant Patent

91394379048 International Patent

Question Number : 62 Question Id : 91394318388 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

freaforfiaa & @ foras gra forelt Senft & whiga anfassr it frdt o 3 gra R, waim ¢t 2k
= ¥ W G IgH h W g ?

Options :

91394372245. ¥

fesmen Ude

91394372246

913942372247, v W

AU ¥e

91394372248

Question Number : 63 Question Id : 91394318389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The degree to which test scores for a group of examiners are consistent over repeated
administration of the same test is referred to as

Options :

Validity
91394372249

Reliability
91394372250.

Regression
91394372251,

9139437005 Atiribution

Question Number : 63 Question Id : 91394318389 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrone Marks :
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Options :

91394372249.

91394272250,

91394372251.

TOTRISOT

913942372252

Question Number : 64 Question Id : 91394318390 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A researcher wants to test the difference of under-nutrition in under 5-year-old children,
among different socio-economic groups. Which of the following tests of significance is the
most appropriate for the above data ?

Options :

91394372253. AROYE

Chi Square
91394372254,

Sign Test
91394372255,

¥_ &
9139437005¢, LeArsons’Y

Question Number : 64 Question Id : 91394318390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tsh YGhd] S-S ATHIRSTh- AT TGl % 5 99 A 1 IF & Fwal 7 HeT-907 o L i Fheqo
FA = ¢ | Fefafea #§ & #-a vee weam swiw siwst 3 fog aodt sifte s & 2

Options :

AT
91394372253, .

1% THAE

91294272254,

=
91394372255, He
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=g ‘on?’
91394372256,
Sub-Section Number: 2
Sub-Section Id: 0913943943
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 91394318391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The following are the functions of ‘Thiamine Coenzyme’ — ‘Thiamine Pyrophosphate’ (TPP) :

(i) Oxidative decarboxylation of pyruvic acid

(ii) Oxidative decarboxylation of u-ketoglutaric acid
(iii) Oxidation-Reduction reactions

(iv) Transamination reactions in amino acids

Choose the correct answer from the code given below :

Code:

Options :

91394370057 O and ()

9139437005g, o) and (i)
(ii) and (iii)

91394372259,

91394370060, ) and (V)

Question Number : 65 Question Id ;: 91394318391 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0
‘“Urpfia w-weEn - ‘arfis asteiese (G4t ) % FeafaRas wef -
() rselaes Wrs i siwdieiea Semifaac

(i) o-RerEdie e 6 i SemEifaaewm
(iii) fFdrena-fegamm aifufsean
(iv) Wit swer # groufree sififem

% Ry e 32 § A 98 SR P
e

Options :
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91394370057, 3R (i)

91394372258, (0 3R (i)

(i) 3l (i)
91394372259,

(iii) 3 (iv)
91394372260

Question Number : 66 Question Id : 91394318392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

As compared to a non-pregnant non-lactating adult woman, the RDA of the following
nutrients are increased for a lactating woman (0 — 6 months) :

(1) Iron

(i) Calcium

(iii) Vitamin A

(iv) Protein

(v) Vitamin C

Chooze the correct answer from the code given below :

Code:
Options :
i), (ii), (iii) and (iv
91394372261, @, (), @) o
i), (iii), (iv) and (v
91394372262, @), (1), (&) W
D), (i), (i d
- (1), (i), (iv) and (v)
ii), (iii), (iv) and (v
91394372264, (&), (i, i) )

Question Number : 66 Question Id : 91394318392 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T 4T W1 (0 — 6 WTE) % forg, U a9% wi <t g | St 7 miadt 8 ok 7 & Ry =t gu e &
g, Prefeafas difses-awmt H searfaa e ¢ s 2

(i) R
(i) Hfeaw
(i) faafm g
(iv) WA

(v) faafm

A= Y ¢ 72 7 @ FE WA FAC:
B
Options :

(i), (i), (iii) 3 (iv)
91394372261,

(1), (iii), (iv) 3 (v)
912394272262,

91394372263, ®, @), v) 3 (V)

91394372264 (i), (i), (iv) 3R (¥)

Question Number : 67 Question Id : 91394318393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following factors increase the risk of developing cancers :
() BMI > 30 kg/m®

(ii) Physical activity

(iii) Tobacco use

(iv) High consumption of fruits and vegetables

(v) Low fibre diets

(vi) High consumption of processed meats
Choose the correct answer from the code given below :
Code:

Options :

Ty
91394372266, (0, 15, (i) amel (1)
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913294272267,

91394372263.

(1), (iii), (v) and (vi)

(i), (iv), (v) and (vi)
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Question Number : 67 Question Id : 91394318393 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

frafafiaa e Fa 3R i gvET H TgEi 2 |
() ft.om.amd. 30 Rraisfe? & st g

(i) e R
(iii) waITR Bl T

(iv) %o 9 Qe st it a8 999

(v) e # 3 <h qrEn w9 2

(vi) ot Hie =1 sftes amn o g9

= R e %2 § @ | IW F g

C T4

Options :

91394372265,

91394372266.

91384372267.

91394372268.

(i), (i), (iii) 3 (iv)

(i), (i), (iii) 3 (vi)

(i), (i), (v) 3R (vi)

(i), (iv), (v) 3T (vi)

Question Number : 6§ Question Id : 91394318394 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

The following are retrospective methods of Dietary Survey :

(i) Duplicate sample method

(ii) 24 hour dietary reecall

(ili) Food balance sheets

(iv) Weighment method

(v) Diet history

Choose the correct answer from the code given below :

Code:
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Options :

91394372289, O 1 and ()
91394372270, O and ()
9130437007, 0 (i) and (iv)
91394370070, O () and )

Question Number : 68 Question Id : 91394318394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AR waar i gl fyftret FofoRaa §
() gfoeene g faf
(i) 249 JFEH TR
(ii) WieM | e
(iv) @r-aee fafa
(v) <meria et
fr= faT 7T Fe | | et IW = A ;
H2:
Options :

(i), (i) 3R (iid)
91394372269,

(), (iii) 3 (iv)
91394372270,

", "—aﬂt .
91394372271. T e

(i), (iii) 3 (v)
912394272272,

Question Number : 69 Question Id : 91394318395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Spices that have antimicrobial effect are
() Aniseed

(i) Turmeric

(ii) Asafoetida

(iv) Nutmeg

(v) Clove

Choose the correct answer from the code given below :
Code:

Options :

i), (ii) and (iii
91394372273 {0 el i)

i), (iv) and (v
91394372274. Db i

ii), (iii) and (iv
91394372275. o v)

(iii), (iv) and (v)
91294272276,

Question Number : 69 Question Id : 91394318395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T TETe o Siam) Rt e §
() d%
(i) TEq
(i) T
(iv) SE%dA
(v) WM
i fu o e | @ ¥ S| T ghe
$e:
Options :
91394372273, ®, () 3 (i
@), (iv) AR (v)
91394372274
(ii), (iii) 3R (iv)

91394372275,
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91394372276. i) L

Question Number : 70 Question Id : 91394318396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ageing is associated with changes in many body functions which include
(i) Sarcopenia
(i) Increase in BMR
(iii) Decrease in BMD
(iv) Dysgeusia
(v)  Increase in BMD

Choose the correct answer from the code given below :

Code:
Options :
i), (ii) and (iii
91394372277, ), G (i)
i), (iii) and (iv
91394372278, (D fil v
i), (iv) and (v
91394372279, ;0 L2
ii), (iv) and (v
91394372280, W Gl o

Question Nuinber : 70 Question Id : 91394318396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

75t 39 % Wy i FrEt § 8 T aieds fefafea
) S
i) Hm.AR. # gig
i) <o, §
(v) fewlen
(v) e dafy
e g e 52 & @ v I # g
R
Options :

91394372277, ®, (i) 3 (i)
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91394372978 (@), (i) 3 (iv)

(i), (iv) 3R (v)
91394=272273.

(i), (iv) T (v)
91394372280

Question Number : 71 Question Id : 91394318397 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Zinc is essential for maintaining the following functions in the body :
(i) Taste acquity
(ii) Haemoglobin synthesis
(iii) Skeletal development
(iv) Wound healing

(v) Clotting of blood

Choose the correct answer from the code given below :
Code:

Options :

i), (ii) and (iii
91394372281, {0 el i)

i), (iii) and (iv
91394372282, (D iR v

ii), (iii) and (iv
91394372283, ), G (fv)

(iii), (iv) and (v)
91294272284,

Question Number : 71 Question Id : 91394318397 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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iR 3 Fefefaa sl it =T e 5 fog e e 2

(i) g i dsom

(i)  Erncifae gy
(i) e w fawm
(iv) YE Y&

(v)  T&d <l SHAT

e feu T 2 4 | |E IW H g
$e:
Options :
91394372281, ®, (i) 3R (i
(i), (iii) 3 (iv)
91394372282,
(i), (iii) 3 (iv)
91394372283,
(iii), (iv) R (v)
91394372284,
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Question Number : 72 Question Id : 91394318398 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Vroom’s theory of motivation uses terms such as

(i) Sense of achievement

(ii) Instrumentality

(iii) Desired outcome

(iv) Expectancy
(v) Growth
(vi) Valency
Choose the correct answer from the code given below :
Code:
Options :
i, (), (i) and G
. (1), (ii), (iil) and (iv)
ii), (iii), (iv) and (vi
91394372286. (et (i Ao e

91394372287.

(iii), (iv), (v) and (vi)
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i), (iv), (v) and (vi)
91394372288, Wetvl A (

Question Number : 72 Question Id : 91394318398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T % Ry Rigia ¥ Frafalas wi # wim femmn g
(i)  Iearer i wEA

(i)  GIY=qEHdn
(iii) gifoa qfom
(iv)  YcHEm

v) dfg
(vi) Gl
e R T %2 & | Wl IR F gAY
Fe:
Options :

(@), (i), (iif) 3R (iv)
91394372285.

(i), (i), (iv) ¥ (vi)
91394372286,

(i), (iv), (v) ¥R (vi)
91394372287

(), (iv), (v) 3R (vi)
91394372288,

Question Number : 73 Question Id : 91394318399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A number of programs have been used to improve work processes, They include

§) BEP
(i) STS
(iii) SOP

(iv) IS0 9000

(v) SPC

(vi) JIT

Choose the correct answer from the code given below :

Code:

Options :



www.prepp.in .repp

Your Personal Exams Guide

D, (i), (iii) and (i
. (1), (ii), (iii) and (iv)

i), (iii), (iv) and (vi
91394372290, @ {iid), &) (v

ii), (iii), (v) and (vi
91394372291. (@, @), (v) (v

ii), (iv), (v) and (vi
91394372292, Wy tiv)y (v S

Question Number : 73 Question Id : 91394318399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frd sk # gur 3 foe 3 wrimm s T E, s mite R
i i
i) wad.w.
(i) ..
(iv) SE.9E.3. 9000
(v) TwadH.
(vi) S.Ims.d.
= R T 3= 3 @ 98 WA IR
He:
Options :

91394372289, ®, (), (i) 3 (iv)

91394372290, (0, (i), (iv) 3 (vi)

(i), (iif), (v) 3R (vi)
912394272291,

91394372292, (i), (), () 3 v

Question Number : 74 Question Id : 91394318400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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What are the records that a food service manager should look at to bring about cost control ?

(1) Invoice

(ii) Job specification
(iii) Requistions

(iv) Perpetual inventory
(v) Process chart

(vi) Forecast and tallies
Choose the correct answer from the code given below :

Code:
Options :

o e 4 (vi
91394372294, @), 1w el amd (1)

i), (iii), (iv) and (vi
91394372295, @, (i), (i) (v

T 4 (v
91394372296, @, (1), (v) and {vi)

Question Number : 74 Question Id : 91394318400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ArTa Frsr 3 fTT o @R-aE a9 vages 9t B siftrerat WA w@Hdt =g ¢

G e
(i) wE F=ER
(i) HTETIRATL
(iv) dq gt
(v) fseam =é
(vi) BIHRL AR et
¥ g o e § & 9 s g
2
Options :
PR——

(), (iv), (v) 3R (vi)
91394372294,
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- ’ .-.-r, . EFI‘R i
91394372295, (1), (iii), (iv) (vi)

91394372298, ®, (1, () 3 (v

Question Number : 75 Question Id : 91394318401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Some anomalies associated with incorrect division of the sex chromosome are

(i) Down syndrome

(ii) Klinefelter's syndrome
(iii) Turner’s syndrome
(iv) Triple X-syndrome

Choose the correct answer from the code given below :
Code:

Options :

i), (ii) and (iii
91394372297. L ]

i), (ii) and (iv
91394372298, Wit )

i), (iii) and (iv
913943722989. U )

(ii), (iii) and (iv)
912394=272300.

Question Number : 75 Question Id : 91394318401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g M % gy Rvaem @ el 3o Rt §

(i) A Tagm
(i) FETHoed fgm
(i) i fagm
(v) R we-fagm
¥ Ry Ty Fe # | | I FH R :
T
Options :
(0, (i) AR (i)

91394372297,
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- ’ o a:ﬁt -
91394372298. e e

(i), (iii) 3 (iv)
912394272299,

(i), (iii) N (iv)
91394372300,

Question Number : 76 Question Id : 91394318402 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Three of the most important theories that rest on the belief that human behaviour is shaped
by predictable processes of learning are

(i) Pavlov’s theory

(i) Skinner’s theory

(iii) Bandura’s theory

(iv) Jung’s theory

Choose the correct answer from the code given below :

Code:
Options :

i), (ii) and (iii
91394372301, {0y i-cmie i)

i), (iii) and (iv
91394372302, 0 o

i), (ii) and (iv
91394372303, 4 W)

ii), (iii) and (iv
91394372304, (&), () (i)

Question Number : 76 Question Id : 91394318402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3 di sreaferes wegl faga it 38 awon w snenfa § e wma sgagr it A gaiqsa e
d w5 8

() e w1 g

i) R w Rige

(iii) &Uga i Rrgra

(iv) 1 faga

i fog T %2 # @ T W I
xe:
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Options :

(1), (i) AR (iii)
91394372301

(i), (iii) 31 (iv)
912394272302,

...aﬁt.
91394372303, (@ (1) 3K tiv)

(i), (iii) 3 (iv)
91394372304,

Question Number : 77 Question Id : 91394318403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Research with human participants creates ethieal issues because quest for scientific
knowledge can exploit people. The following are important rights of participants in India :

(i) Payment for their time

(ii) Informed consent

(iii) Privacy

(iv) Protection from harm

Choose the correct answer from the code given below :

Code:
Options :
i), (i) and (iii
91394372305, @, ) L
i), (ii) and (iv
91394372306, @, 4 W)
i), (iii) and (iv
91394372307, @ G U
ii), (iii) and (iv
91394372308, (i), i) Gv)

Question Number : 77 Question Id : 91394318403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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gt S wfowfrar are vy J Ao 12 @S B9 3 il IME TEH i Wi d wgsd W @
goal & | WRa | i & weegel st Freafafad €

(i) 3% a9 % fore yram
(i) e e T agaie
(i) Frr

(iv) &@fa d &

= g M %2 § @ | I F AT
B
Options :

(1), (i) 2R (iii)
912394272305,

SRS (1), (i) R (iv)

91394372307, , i) 3 (iv)

(i), (iii) 3 (iv)
912394272308,

Question Number : 78§ Question Id ;: 91394318404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks ;

The psychologist determined that Rita, a 15-year-old was age appropriate in the cognitive
domain because she was capable of

(i) Evaluating the logie of propositions

(ii) Being organized and logical only when dealing with concrete information
(iii) Testing hypothesis without concrete situations

(iv) Operating on operations

Choose the correct answer from the code given below :
Code:

Options :

i), (ii) and (iii
913943723089. {0y i-cmie i)

. (ii) and (i
01394372310, W and )

i), (iii) and (iv
91394372311. U it

ii), (iii) and (iv
91394372312, (i i) )
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Question Number : 78 Question Id : 91394318404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

meraates 3 g Fulfe Bem e 15-affa O qemrers & 7 oroft oy % forg suge & =it a7
frafafas s s A agm 2

() wieaRadi % aoh &1 qeaiwa

(i) T 3@ g wita A gm i wnfsa i afds g
(ii) 3| qitfeefoat 3 i Sracpeat it Tl FE

(iv) GfFmstt W y=em

9 AT mT F2 & | T IHW F I ;
C T
Options :
(i), (i) 3R (iid)
91394372309,
(i), (iii) 3 (iv)
91394372311,
(i), (iii) 3 (iv)
91394372312,

Question Number : 79 Question Id ;: 91394318405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

The government guidelines for a good infant care program includes the following :
() Age appropriate play material

(ii) Indoor and outdoor environment clean and safe

(iii) Trained caregivers

(iv) All caregivers must have smartphones so that they can contact parents

(v) Good television programmes for children

Choose the correct answer from the code given below :

Code:
Options :

i), (ii) and (iii
91394372313, @, @ (i)

i), (ii) and (v
91394372314. ;4 i
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i), (iii) and (iv)
91394372316, (D, (i) (

ii), (iii) and (iv
91394372316. ), G {iw)

Question Number : 79 Question Id : 91394318405 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
T dgal Ry @@ Frism % fog wed fam-fdet 9 frafafaa wmite 2id 2
() Y % FAR I o arft
(i) A% wd gfdra ey ofit Siafe aiEy
(iti) wRfera @Rl
(iv) a¥ft Tawremateit % wra Pfte ot w wde B ifee @i & aiftnmast @ duh W wH
(v) ==t % forg sred eefifesm el

= R e %2 § @ | IW F g
B
Options :

(1), (ii) o (i)
912394272312,

91394372314, ®, ) M)

(@), (i) 3R (iv)
912394272215,

(i), (iii) 3 (iv)
91394372316,

Question Number : 80 Question Id ;: 91394318406 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

Most important Kutch embroideries are represented by

(i) Mochis
(ii) Cholas
(iii) Rabaris

(iv) Chalukyas

(v) Ahirs

(vi) Kanbis

Choose the correct answer from the code given below :

Code:
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Options :

5 D 45, amil T
91394372317. el e e bl

o e 4 (vi
913943723183, @, (i), (v) and (vi)

ii), (iv), (v) and (vi
91394372319. (i i ) )

e d (v
91394372320, (0, 4193, (e and (1)

Question Number : 80 Question Id : 91394318406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
qa8 AEeqUl Foo Hgrgal i T W@ 3
(i) ==
(i) e
(ii) T@Td

(iv) ST
(v) 37K

(vi) el

9 T MU F2 & | T IHW F IMC ;
C

Options :

(i), (i), (iv) 3 (vi)
912394272217,

91394372318, @, i), (v) 3R (v

sisasrasy v FRED

91394372320, ®, (), () 3R (v)

Question Number : 81 Question Id : 91394318407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in 'repp

Your Personal Exams Guide

Commonly used bed types in sewing machines are

(i) Flat
(i) Post
(iii) Oblong

(iv) Cylindrical

(v) Buck

Choose the correct answer from the code given below :
Code:

Options :

ii), (iii) and (iv
91394372321. (i i) )

i), (ii) and (iv
91394372322, DD )

i), (ii) and (iii
91394372323. Tl e

(iii), (iv) and (v)
912942722324,

Question Number : 81 Question Id : 91394318407 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Rrems wefiAl 7 STHER TR AW 91 98 F TAR &

(i)  wie

() e

(i)  ATeeti=T

(iv) ﬁ'ﬁiﬁ‘;ﬂﬂ

(v) °qh

= QT T 2 # | G W H gAY
C &
Options :
91394372321 (i), (i) 3 (iv)
91394372322, , () 3R (iv)

(i), (i) 3 (iii)

91394372323,
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91394372324. i) L

Question Number : 82 Question Id : 91394318408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

To give an illusion of height, which of the following features will you suggest to your friend
who is short ?

(i) Contrasting collars and cuffs

(ii) Single column of colour

(ili) Pointed collars

(iv) Stovepipe pants

(v) Patch pockets

Choose the correct answer from the code given below :

Code:
Options :

ii), (iii) and (iv
91394372325. (o i) )

ii), (iv) and (v
91394372326. W Gl o

i), (iv) and (v
91394372327. @, Gv) N

(iii), (iv) and (v)
91394372328.

Question Number : 82 Question Id : 91394318408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
F=r$ ot ym 3 % forg PrafoiRae Remmeii f @ A s s R Rl gea S s At & 2
() weR-faada w9 7%
(i) TT I THA TN
(i) Fohiet Fiew
(iv) Eraury =
(v) oo s
e o T¢ T # | 9 W # g9
R
Options :

(i), (i) # (iv)
91394372325.
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- , . ﬁ
91394372326. e Wi

(i), (iv) 3R (v)
91394=272327.

(iii), (iv) 2 (v)
912394272328,

Question Number : 83 Question Id : 91394318409 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are the characteristics of transfer printing ?

(i) Pollutes more water than other printing methods
(i) Good design clarity

(iii) Highly efficient

(iv) Unskilled labour eannot be used

(v) Less space required

(vi) Flexibility of designs possible

Choose the correct answer from the code given below :

Code:
Options :
i), (ii), (iii) and (vi
91394372328%. @, (), (i) v
ii), (iii), (iv) and (v
91394372330. (i), (i), (1v) v)
ii), (iii), (v) and (vi
91394372331, (@D, i), ) (v
iii), (iv), (v) and (vi
91394372332, (i), @), (v) (vi)

Question Number : 83 Question Id : 91394318409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Frefafas 4 @ goe oo <t fadvard SR E 2
(i) T3 % 3 Tt A o 7 it o v wan @
(i) =t feamg wreea
(i) ST T
(iv) HAFHIA Hefgl il I a1 fohan S |ehal
(v) R g P wEa
(vi) Tt =i ar=iams ava @
9 AT MU F2 & | T IHW F I ;
C o

Options :

91394372329 , (D, 6 3 ¢+

i, i, i)
T, (ii), (iii), (iv) (v)

91394372331, (i), (i), (v) 3R (vi)

(iii), (iv), (v) 3 (vi)
91394372332,

Question Number : 84 Question Id ;: 91394318410 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

You have accidentally stained your dress with lipstick. Which of the following reagents can
be used to remove the stain ?

(1) Acetone

(i) Glycerine

(ili) Benzene

(iv) Petrol

(v)  Methylated spirit

Choose the correct answer from the code given below :
Code:

Options :

i), (ii) and (iii
91394372333 (0 L1it:smmd )

ii), (iii) and (iv
91394372334, (&), () (i)
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(iii), (iv) and (v)
91294272325,

i), (ii) and (v
91394372336. 0,4 o

Question Number : 84 Question Id : 91394318410 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

AT A 8 R Tt A ferafeess <1 g wm fean @ | g i g % forg Feafofas siimerdent 4 @

-8 e w7 fore =1 god € 2
G) wdem
) fead=
(iii) A
(iv) Sg@
(v) uRefee fafe
9 oy T = & | W W FH gAY
B
Options :
91394372333, ®, () R (i)
(i), (iii) 3R (iv)
91394372334
(iii), (iv) 3R (v)
91394372335,
91394372336 ®, @) M)

Question Number : 85 Question Id : 91394318411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Indirect glare is reflected from a surface into the eyes such as headlights of a car in your
rear view mirror. Select among the following options to prevent this situation :

(i) Altering the angle of the indirect light source
(i) Shields to be used
(iii) Hoods and visors can be strategically placed around the reflecting surfaces

(iv) Avoiding use of rear view mirror at night

(v) Placing a colour film on the rear view mirror

Choose the correct answer from the code given below :

Code:

Options :

i), (ii) and (iii
91394372337, {0 el i)

i), (iii) and (iv
91394372338, (D iR )

i), (iv) and (v
913943723389. Bitied ol

ii), (iv) and (v
91394372340. (il w

Question Number : 85 Question Id : 91394318411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AT Tehrae Uh Hag @ At@l # Efda gt & wa fordt wR i gsange e S g 9 1w
¥ | 39 awdT Hi U & forg FrafaRas feedt 3 9 gfm

(i) ATCA% THIY GG Pl PO TCAT

(i) iee WM

(il) EdH qagl o ARG VAR T H §S IT TME T 1 THha o
(iv) Trd i S @ aret 3 st v T Fen

(v) 9 3@ T i v oftw frew e

i e T gz # @ W SR P
he:
Options :

(i), (i) ¥R (iii)
91394372337,

(), (iii) 3 (iv)
91394372333,

(i), (iv) 3R (v)
912394272329,
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- , . ﬁ
91394372340. e Wi

Question Number : 86 Question Id : 91394318412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following criteria are used in evaluating a design ?

(i) Honesty

(i) Individuality of design

(iii) Qualification of designer

(iv) Arrangement of design elements

(v) Discounts

Choose the correct answer from the code given below :

Code:
Options :
i), (i) and (iii
91394372341, @, ) D
(iii), (iv) and (v)
91394372342,
i), (i) and (iv
91394372343, @, ) ()
ii), (iii) and (v
91394372344, (i), i) (v

Question Nuinber : 86 Question Id : 91394318412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fereft arf¥rnea o e o FrafoRae § & Form et 1 s e s & 2
(i) FAFRH
(i) e i safkafesa
(i) Srf¥rheush Y T
(iv) f¥heq awal i =Hawyl

(v) T
9 Ru e 5 7 4 v T A ghT:
&2

Options :

(i), (i) ¥R (iii)
91394372341
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(iii), (iv) 3R (v)

91394372342,
i), (i) 3 (iv
91394372343, (-l ey
(i), (iii) 3R (v)
91394372344,

Question Number : 87 Question Id : 91394318413 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following solutions are to be adopted when manufacturers repackage existing
products into attractive looking and novel shapes of packs, and advertise the product to be
in a new pack ?

(i) Consumer awareness needs to be increased

(ii) All practices leading to deceptive packaging to be endorsed
(iii) Strong legislation

(iv) Reliable buying guides to be published

(v) Consuming products in any form from manufacturers

Choose the correct answer from the code given below :
Code:

Options :

i), (ii) and (iii
91394372345, (0 L smd (g

(ii), (iii) and (iv)
9129427224k,

(iii), (iv) and (v)
91384372347,

i), (iii) and (iv
91394372348, (D iR )

Question Number : 87 Question Id : 91394318413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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g fafmiarett st faemm I it et 3 7T 36 § TRd Fd L 39 T¢ 56 4 g1 = famrm
w1 &, 9 Frafafas & @ H9-8 399 s g 2

(i) TTEH TATEHAT TGH hl FE 2

(i) W TR & ot Tlieht Bt SI9AE B
(iii) SR FFH

(iv) Teeaasia sa fem-Fde wiiira e

(v) fafmimedt & seargt =t foredt sl ®9 3% 3o

A= Y ¢ 72 7 @ FE WA FAC:
B
Options :

(i), (ii) o (i)
91294272345,

(i), (iii) 3 (iv)
91394372346,

(iii), (iv) 3 (v)
91394372347,

(i), (iii) 31 (iv)
9123942722348,

Question Number : 88 Question Id : 91394318414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following steps will a family adopt while facing crisis for managing the
finances that they have suddenly incurred due to their children’s education ?

(i)  Borrowing money every month

(ii) Additional part time income

(ili) Budget making

(iv) By household production

(v)  Avoiding use of seasonal food products

Choose the correct answer from the code given below :
Code:

Options :

(iii), (iv) and (v)
913943723489,

i), (iv) and (v
91394372350. (0 by L
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i), (i) and (iii
91394372351, ), (@) iy

ii), (iii) and (iv
91394372352, (i), (i) Ge)

Question Number : 8§ Question Id : 91394318414 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

gfe forelt afar 7 3= h Mg W gL oS T % FRo i ghe o T |, 9t T7 9fER IwH
aaraT % fore Frafafaa § @ s wqw vemam 2

(i) ¥l HIg 47 IGR A0

(i) wAfafEa stwwias s

(i) S FAMAT

(iv) R WM IIed FE

(v) Ttadt @ agret & T |/ "=

= Ru mu %2 # & 96 I F I
B
Options :
(i), (iv) 3 (iv)
91394572349,
@), iv) 3R (v)
91394372350,
(1), (i) 2R (iii)
91394372351,
(i), (iif) AR (iv)
91394372352,

Question Number : 89 Question Id : 91394318415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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When a house is built for the purpose of becoming a home, completion of the outer shell
does not necessarily qualify it for that purpose. Which of the following facilities in the house
contribute towards making it a home ?

(i)  Finishes of walls

(ii) Means of supplying water

(iii) Dampness

(iv) Equipment for controlling temperature

(v) Horizontal circulation

Choose the correct anawer from the code given below :
Code:

Options :

ii), (iii) and (v
91394372353, (&), () W

i), (i) and (iv
91394372354, D )

i), (iii) and (v
91394372355. 0 L2

ii), (iii) and (iv
91394372356. ), G {iw)

Question Number : 89 Question Id : 91394318415 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

s Forelt waa ot W =R % Torg Fmion forn sman 2, @t et At % i B ST @ 98 a6l R
3T W A T 7 ) W A Frefafad § @ - glvand s8 wmoardt € 2

()  dHRh s
(i) Semgfd % WA
(i)
(iv) arq Frme sy
(v) &fos afteEres
i T T 72 7 @ FE FW A FAC:
He:
Options :

91394372353, (i), Gi) 31K (v)

(i), (ii) 3R (iv)
91294272354,
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- ’ T EFﬁT
91394372355. D w

(i), (iii) 3 (iv)
91394372356,

Question Number : 90 Question Id : 91394318416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The communication process is always

(i) Universal

(ii) Systematic
(iii) Intentional
(iv) Interactional

(v) Funectional
Choose the correct answer from the code given below :

Code:
Options :
i), (i) and (iii
91394372357, @, ) S
ii), (iii) and (v
91394372358, (i), i) v)
(iii), (iv) and (v)
91394372359,
i), (ii) and (v
91394372360, @40 (v

Question Number : 90 Question Id : 91394318416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
oS ikt Wad =il &
() aEvfe
(i) wurreflEg
(i)  TOFEIIT (FoaTFeT)
(iv) a:frameres
(v) IS
i fog T %2 # @ @ W I
HE:

Options :
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(1), (i) AR (iii)
91394372357

(i), (iii) 3 (v)
912394272358,

(ii), (iv) 3 (v)
91394372353,

91394372360, ®, @) 3 (v)

Question Number : 91 Question Id : 91394318417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The qualities of a source as per Berlo’s model of communication are
(i) Communication skills

(ii) Personality

(iii) Knowledge

(iv) Attitude

Choose the correct answer from the code given below :

Code:

Options :

i), (ii) and (iii
91394372361. Tl v

(ii), (iil) and (iv)
91394372362,

i), (i) and (iv
91394372363, ;4 i

i), (iii) and (iv
91394372364, (D iR )

Question Number : 91 Question Id : 91394318417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ATl 5 TG0 WS % AR Rt Hia 3 or §
) R W

(i) wafma

(i) ™

(iv) oqagR (Saf)

e oy T 32 # § W TW A ghT
6
Options :

(1), (i) 9 (i)
912394272361,

(i), (iii) 3 (iv)
91394372362,

SRR (1), (i) R (iv)

91394372364, , i) 3 (iv)

Question Number : 92 Question Id : 91394318418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Self-Help Groups (SHGs) in a community can be mobilised by

(i) Gram Panchayats

(ii) Banks

(iii) Voluntary Organisations
(iv) Individuals

(v) Local Traders

Choose the correct answer from the code given below :

Code:
Options :

i), (ii) and (iii
91394372365, (B smd, it

ii), (iii) and (iv
91394372366, ), G {iw)

(iii), (iv) and (v)
91394372367.

i), (iii) and (iv
91394372368, (D fil v
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Question Number : 92 Question Id : 91394318418 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
fereft Trgr # wa-agmEa aagl (WA, s ) F ares e s e
() ™ =EEt g
(i) et g
(i) TR @St g
(iv) =afeEt g
(v) i st gra
fre R me 52 # | T IW = g
%
Options :

(1), (i) 2R (iii)
912394272365,

(i), (iii) N (iv)
91394372366,

(iii), (iv) 3R (v)
912394272367,

(), (iii) 3R (iv)
91394372368,

Question Number : 93 Question Id : 91394318419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The objectives of organising a field trip for an extension-education programme are
(i) It stimulates interest of the visitors

(ii) It helps to recognise problems
(iii) To solve problems of the community
(iv) To witness feasibility of related practices

(v) To identify group leaders of the community
Choose the correct answer from the code given below :

Code:
Options :

i), (ii) and (iii
91394372369. L ]

ii), (iii) and (iv
91394372370. o v)
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(iii), (iv) and (v)
91294272271,

i), (ii) and (iv
91394372372, 0,4 )

Question Number : 93 Question Id : 91394318419 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

ferelt fereare-fneror shrfshn < fore & GRr STmifor 5 o 99 &
() gt s ST

(i) GEEAIAT I TdT ST H WG

(i) TG H TS H YA

(iv) Geferd qast i syagriat T@

(v) YA % THg a1 H G FA

e feu T 2 4 | |E IW H g
$e:
Options :
(@), (i) 2 (iii)
91394372363,
(i), (iii) 3 (iv)
91394372370
(iii), (iv) 3R (v)
91394372371,
(1), (ii) 3R (iv)
91394372372,

Question Number : 94 Question Id ;: 91394318420 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;
Listening is influenced by the following cultural factors :

() Language

(i) Primary coordination

(iii) Credibility of the speaker

(iv) Secondary coordination

(v) Non-verbal behaviour

Choose the correct answer from the code given below :

Code:

Options :
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i), (ii) and (iii
913294272373, (At sy
i), (iii) and (iv
91394372374. (0, i )
(iii), (iv) and (v)
91394372375.
i), (iii) and (v
91394372376. (D fil i

Question Number : 94 Question Id : 91394318420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gaur (gn) FeafalRaa wreplos sret @ mfaa g 2
(i) wm
(i) P FHaT
(i) FFar i Favaasita
(iv) T T
(v) TR-Tfes sqagr
9 AT T F2 & | T IHW F I ;

He :

Options :

(1), (i) 2R (iii)
912394272372,

(), (iii) 3 (iv)
91394=72374.

(i), (iv) IR (v)
91394372375.

(i), (iii) 3 (v)
912394272376,

Question Number : 95 Question Id : 91394318421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following variables can be classified only under the nominal category ?
(i) Eye colour

(ii) Military rank

(iii) Type of cheese

(iv) Scoresin a test

(v) Political party affiliations

Choose the correct answer from the code given below :

Code:
Options :

i), (ii) and (iii
91394372377. Tl e

1), (iii) and (iv
91394372378, @, (D (iv)

i), (iii) and (v
91394372379. (D fil i

ii), (iii) and (v
91394372380. (o i) W

Question Number : 95 Question Id : 91394318421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fFrfaRaa 3§ @ e =+t arefas Aot 3 e foran st awar 2 2
(i) A@HET
(i) &= Aot
(iii) R % FHR
(iv) wf&rn & e
(v) TSI ga 8 gay
e o Te T & | W IR FH gAY
R

Options :

(i), (i) 2 (iii)
91394372377,

S48 AR (1), (iii) 3 (iv)

(0, (iid) 3R (v)
91394372379,
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Question Number : 96 Question Id : 91394318422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The response rate obtained in a questionnaire based survey research is usually due to the

combined effect of
(i) Sampling method adopted

(ii) SPSS analysis

(iii) Length of questionnaire

(iv) Research topic and objectives

Choose the correct answer from the code given below :

Code:

Options :

91394372381.

91394372382.

91394372383.

91294272384,

(i), (i) and (iii)

(i), (ii) and (iv)

(i), (iii) and (iv)

(ii), (iii) and (iv)

Question Number : 96 Question Id : 91394318422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ferelt syaTaeht snutie adaror s § wreg SRR @ AR R FeafefRan & aftifee mma % s

Bt 2

(i) oA ¥ wfergat somredt

(i) @9 um. fawem

(iii) SR Y s

(iv) Iagr fawa sk st

A9 feg Mo e 7 A 7 WA R

B

Options :

91394372381.

(i), (i) 2 (iii)
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- ’ o a:ﬁt .
91394372382. e “

(@), (i) #K (iv)
91394372383,

(i), (iii) R (iv)
91394372384,

Sub-Section Number: 3
Sub-Section Id: 013943944
Question Shuffling Allowed : Yes

Question Number : 97 Question Id : 91394318423 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The challenges in health care in India, at present, due to nutrition transition
are both to combat ‘under-nutrition’ and ‘over-nutrition’.

Reason (R) : The demographic transition in India is resulting in an increase in the
proportion of elderly population.

Code:
Options :

Both (A) and (R) are correct.
91394372385,

(A) is correct, but (R) is incorrect.
91394372386,

(A) is incorrect, but (R) is correct.
91394372387.

Both (A) and (R) are incorrect.
91394372388,

Question Number : 97 Question Id : 91394318423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A= 3t o Ry e §, fmd 3 & ftsam (A) R o g0 7 (R) B | ol it afg oftt = fag me
e I SN B TqE 9L YA |

HTFT (A) : TI90T TEHHOT 3 B0 FAHH § WRATS | Taree S@nTa ¥ 319 et gHtfeal gl atg
g — ‘req-giaor 9 ‘siftrs-qiwer’ < Aham |

FIRT (R) : WA § SHATCTHIT Tsha0l o GACTET Foiil hl SIEEHT o G | wgtadl 7l W 2 |
B

Options :
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51394372355, NP TATIE |

(A) &t 3, g (R) Teid 2 |
91394372386,

(A) a2, WG (R) |t 2 |
91394372387,

91394372338. CAYR(RY ol e &)

Question Number : 98 Question Id : 91394318424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Food intolerance is an adverse abnormal immune response to food triggered
by the body’s immune system.

Reason (R) : The symptoms of food intolerance are generally restricted to gastrointestinal
tract.

Code:
Options :

91394575380, Both (A) and (R) are correct.

(A) is correct, but (R) is incorrect.
91394372390,

(A) is incorrect, but (R) is correct.
91394372391,

91394575555 Both (A) and (R) are incorrect.

Question Number : 9§ Question Id : 91394318424 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

= <ty fm e §, o & w atfireua (A) ® o @ 7 (R) B | el i ufge 3R i faw e
% 1 TN R GE ST G |

R (A) : TR <t wferen yomeft @ @r-uerd % gfa IeaF B et Sfoge Farmea SfTE
gfeferan o @ra-vere it srmgafiera w8d € |

FR (R) : @rA-9e1d it ragRiterdt o 9o Aaa: SeUs (IeF) @3 79 2 Hife wd B

R
Options :

51394372385, NP TATIE |
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A) ) R)Tcd = |
91394272390. BT, T B !

(A)Teid B, W (R) T 2 |
91394372391,

91394372332, (AR (R T

Question Number : 99 Question Id : 91394318425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Guar gum from cluster beans can reduce plasma cholesterol.

Reason (R) : The viscosity of gel helps in increased absorption of glucose.
Code:

Options :

913945375353 Both (A) and (R) are correct.

(A) is correct, but (R) is incorrect.
91394372394,

(A) is incorrect, but (R) is correct.
91394372395,

91394375356, Both (A) and (R) are incorrect.

Question Number : 99 Question Id : 91394318425 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

= 3t o Ry T E, il @ o sifirem (A) R ofR g Tk (R) ® | et Rt o ofR AR Ry g
%< T AN F T SW g |

3fieme (A) : W Bell B R T TATAT HICSial i HH L GHaT 2 |
RV (R) : & h TAHAT Thi o GG TG | 7Gg et 2 |

C -
Options :
91384372395, @) M (B) ?fFﬁ "élﬁ % I
(A) Tt 3, g (R) Teid 2 |

91394372394,
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A) Tdd &, R) |
913942372395, ( L@t

91394372396. (AR (R T

Question Number : 100 Question Id : 91394318426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Menu is considered as a stand-alone component of a food service unit.

Reason (R) : It necessitates systematic planning procedures which include continuous

evaluation of the meals.
Code:
Options :
Both (A) and (R) are correct.
91394372397,

(A) is correct, but (R) is incorrect.
913943723983,

(A) is incorrect, but (R) is correct.
913943723989,

91394575400, Both (A) and (R) are incorrect.

Question Number : 100 Question Id : 91394318426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 2 o Ry T &, fomit @ o i (A) R iR g wh (R) ® | et Bt o ok AR Ry g
e I TN B TG I A |

HRFE (A) : 4=t @H-TH FG1 7518 i T Tafise wes arn s 2

RV (R) : T8 Soreftag Fiomn gisreneit st sravespat gt § fes Wism &t aaa geaiea wira gian
2

6

Options :

91394372397, NPT TAE |

A) 3 R)Tdd = |
913894372398. W R ?

(A)Ted 8, g (R) Tt 2 |
91394372399,
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91394372400. (AR (R T

Question Number : 101 Question Id ;: 91394318427 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : All preschoolers should be exposed to at least one hour of computer literacy
each day.

Reason (R) :In later years, early exposure to computers will lead to enhanced brain
development.

Code:
Options :

Both (A) and (R) are correct.
91394372401,

(A) is correct, but (R) is incorrect.
91394372402.

(A) is incorrect, but (R) is correct.
91394372403,

Both (A) and (R) are incorrect.
91394372404,

Question Number : 101 Question Id : 91394318427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 3§ o Ry e &, frdl & o afiepem (A) R of gga ok (R) 7 1 Al i afe of R Ry g
%e 1 TEN N AG I AT |
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91394372403. : %m( e

A) IR (R Tdd
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Question Nuinber : 102 Question Id : 91394318428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : There is a higher incidence of learning difficulties in children who experience
a long period of institutionalization in the early years.

Reason (R) : The first six years are critical periods for emergence of certain capacities and
deprivation results in negative consequence.

Code:

Options :

91394372405.

91394372406,

91394372407.

91394272408,

Both (A) and (R) are correct.

(A) is correct, but (R) is incorrect.

(A) is incorrect, but (R) is correct.

Both (A) and (R) are incorrect.

Question Number : 102 Question Id : 91394318428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
5 &t o feg T &, il @ o e (A) R ofR g ok (R) ® | et Bt o afi AR Ry g

e I TN B TqF I A |
27T (A) : AR a6t 8 St rafer aoh e SR aret w11 ° arftrmy wweEnet S arEEt

e gt 2 |

HIT (R) : 9T il + IR 5 1T 7501 98 99 Agwqul Bid & R =1 % FhRIcHs RO gid

g
62

Options :

91334372405.

91394372406.

91394372407,

91394372408.

(A) IR (R) QAT adt 2 |

(A) W& 2, Ig (R) Teid 2 |

(A)TEd 8, g (R) &1 & |

(A) 3R (R) g1 TTeid © |

Question Number : 103 Question Id : 91394318429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The policy on child adoption in India states strongly that early placement is
the most important thing irrespective of whether it is an Indian family or a foreign one.

Reason (R) : Early placement in adoption will lead to better outcomes for the development of
the child.

Code:
Options :

Both (A) and (R) are correct.
913943724098.

(A) is correct, but (R) is incorrect.
91394372410,

(A) is incorrect, but (R) is correct.
91394372411,

61394375415 Both (A) and (R) are incorrect.

Question Number : 103 Question Id : 91394318429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=t o fou e §, o & o sl (A) R of g0 9 (R) B | Fml e oftt s fim o
%< T AN F e ST g |

ST (A) : WG | &= 7ig oA i Hifa § wedht @ 75 Far ™0 § 7 =9 98 wdia afEr g o
facEht, o=t = auTEwT FH I § Mg T ST ged AEeagel © |

I (R) : %9 3 | Mg Torg A & o1 & oo i aga avran didi 2 |

R
Options :

51394372405, N TP TATAE |

A) s R)Tdd = |
913942372410. @ e, I B !

A) Teld &, R) |
91394372411. : %m( e

A) IR (R Tdd
91394372412, (&) 3R (B TR g

Question Number : 104 Question Id : 91394318430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Fibers with amorphous arrangement of polymers have a better water
absorption and dye uptake.

Reason (R) : In amorphous arrangement, polymers are arranged in a random manner
making the fiber more absorbent.

Code:
Options :

Both (A) and (R) are correct.
91394372413,

(A) is correct, but (R) is incorrect.
91394372414,

(A) is incorrect, but (R) is correct.
91394372415,

61394375416, Both (A) and (R) are incorrect.

Question Number : 104 Question Id : 91394318430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A9 Q) Fom R e E, Rl @ o sl (A) § ot gga 7 (R) # | oAl it afge oft R Ry g
%< T AN F e ST g |
7YY (A) : Feaafedrd raee § vielvd aret Wit § A5t e Fawiee R S TS0 &aT Bidl @ |
FIOT (R) : SA=qafyra et § uieind sad e @ Faifeg gid 2 forad 1 e sawiys 8 s
g
B

Options :

51394372413, NP TATIE |

A) s R)Tdd = |
913942372414. @ e, I B !

A) Teld &, R) |
91394372415, : %m( e

A) IR (R Tdd
91394372416 (&) 3R (B TR g

Question Number : 105 Question Id : 91394318431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Plissé crepe is obtained by printing sodium hydroxide paste on selected areas
of cotton fabric in a predetermined pattern.

Reason (R) : The treated areas expand while the untreated areas retain their original
dimensions.

Code:

Options :

Both (A) and (R) are correct.
91394372417,

(A) is correct, but (R) is incorrect.
91394372418,

(A) is incorrect, but (R) is correct.
91394372419.

61394375450, Both (A) and (R) are incorrect.

Question Number : 105 Question Id : 91394318431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A9 Q) Fom R e E, Rl @ o sl (A) § ot gga 7 (R) # | oAl it afge oft R Ry g
%< T AN F e ST g |

e (A) : weitd e gl uglt @ ot 9 & gfig el w et ssgfses S S g &
sred foRat ST B |

RO (R) : Sq=nita Tl Sera B wrafer Soenia vl & o s a9 | 2 |

B

Options :

s1394372417, WP TATAE |

A) s R)Tdd = |
913942372418. @ e, I B !

A) Teld &, R) |
91394372419. : %m( e

A) IR (R Tdd
91394372420 (&) 3R (B TR g

Question Number : 106 Question Id : 91394318432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : It is possible to dye textiles containing fibers having different dye affinity
with one solid colour using a single dye bath.

Reason (R) : Dyes having affinity for different fiber types can be used to produce one solid

colour.
Code:
Options :
Both (A) and (R) are correct.
91394372421,
(A) is correct, but (R) is incorrect.
913894372422,
(A) is incorrect, but (R) is correct.
91394372423,
Both (A) and (R incorrect.
91394372424, and Gl areinco

Question Number : 106 Question Id : 91394318432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= § vy G e B, ot @ u aifirem (A) B ok g0 7% (R) B | ol 9t wfge i A= feg mo
%< T AN F e ST g |

s1firra (A) : Tafim Tt % sgpa Vg a6 i fama o5 @1 1 FEn F0 s S| W/
S G B |

RV (R) : Taf¥r 1o % YR % g5 Tl Tl 0 G 318 01 41 % Torg o s asan 2 |
B
Options :

91394372421, WP TATAL |

A) s R)Tdd = |
91394372422 @ e, I B !

A) Teld &, R) |
91394372423. : %m( e

A) IR (R Tdd
91394372424, (&) 3R (B TR g

Question Number : 107 Question Id : 91394318433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Understanding is in the mind of both the sender and the receiver of the
message.

Reason (R) : Persons with closed minds completely understand messages, especially if the
information is contrary to their value system.

Code:
Options :

Both (A) and (R) are correct.
91394372425,

(A) is correct, but (R) is incorrect.
91394372426,

(A) is incorrect, but (R) is correct.
91394372427,

61394375458 Both (A) and (R) are incorrect.

Question Number : 107 Question Id : 91394318433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A9 Q) Fom R e E, Rl @ o sl (A) § ot gga 7 (R) # | oAl it afge oft R Ry g
%< T AN F e ST g |
e (A) : TUF, T 3 Ik I Sreaehat 1 6 fewmr o gt R |
I (R) : 5, femmT St ahr deei 6t O 9@ a0y Sd 2, @ 9 Afe guan 39 9o 97 @ favda
l
B

Options :

91394372405, NP TN AL |

A) s R)Tdd = |
91394372426, @ e, I B !

A) Teld &, R) |
91394372427. : %m( e

A) IR (R Tdd
91394372428, (&) 3R (B TR g

Question Number : 108 Question Id : 91394318434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Lighting must be interesting and aesthetically pleasing.
Reason (R) : All uncovered light sources are aesthetically appealing.
Code:

Options :

Both (A) and (R) are correct.
91394372429,

(A) is correct, but (R) is incorrect.
91394372430,

(A) is incorrect, but (R) is correct.
91394372431,

51394575435 Both (A) and (R) are incorrect.

Question Number : 108 Question Id : 91394318434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A9 Q) Fo Ry T E, P @ w aiftepy (A) il g0 76 (R) 7 1 el 9 iy afi S Ry e
F A F A IR AT |
SFIFAT (A) : THIE h SqaEYT N7 § J=eh R digd il it goa +@ areft S =ifge |
SR (R) : 5 % G¥fi ge Gia sti@l i <& ° 370 94 % |

C -

Options :

91394372429, NI BTATIE

A) y (R)Tdd = |
91394372430. { Hﬁi%‘i’(f-@ !

(A)TTed 8, WG (R) Tt 2 |
91394372431.

91394372432, CA) SRR el T &

Question Number : 109 Question Id : 91394318435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The structural design should usually be conceived to accommodate the
population (characteristic) between Eth and 95th percentile.

Reason (R) : The population characteristics below the 5t percentile and above the 95"
percentile are used for construction of designs.

Code:
Options :

913945375433 Both (A) and (R) are correct.

(A) is correct, but (R) is incorrect.
91394372434,

(A) is incorrect, but (R) is correct.
91394372435,

Both (A) and (R) are incorrect.
91394372436,

Question Number : 109 Question Id : 91394318435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 2 o Reg T €, il @ o aifirehem (A) § ofR g ok (R) ® | et Bt ol ok AR Ry g
e I SN H TG I AT |
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%<
Options :
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Question Number : 110 Question Id ; 91394318436 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : People’s participation has lost its importance in making any programme
successful.

Reason (R) : Use of ICTs has become the most important requirement for ensuring success of
the programmes.

Code:
Options :

Both (A) and (R) are correct.
91394372457,

(A) is correct, but (R) is incorrect.
91394372438,

(A) is incorrect, but (R) is correct.
91394372439,

5159457544 Do (A} and (R) are incorvect,

Question Number : 110 Question Id : 91394318436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A9 Q) Fom R e E, Rl @ o sl (A) § ot gga 7 (R) # | oAl it afge oft R Ry g
%< T AN F e ST g |
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B

Options :
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A) IR (R Tdd
91394372440, (&) 3R (B TR g

Question Number : 111 Question Id : 91394318437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Puppetry uses entertainment education strategy to influence people’s
behaviour.

Reason (R) : Puppetry can be used to provide detailed and scientific information to people.

Code:
Options :

61394375441 Both (A) and (R) are correct.

(A) is correct, but (R) is incorrect.
91394372442,

(A) is incorrect, but (R) is correct.
91394372443,

sizgumzoauy To vy and (R e incoreed,

Question Numnber : 111 Question Id : 91394318437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A= QY Fom R e E, il @ o aifiepem (A) # ot gga ok (R) % 1 Al 1 afge oft AR Ry g
e I AN B TG T AT |
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Options :
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91394372443,

91394570444 A I (R) T TSR § |

Question Number : 112 Question Id : 91394318438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Laissez-faire type of leadership results in a satisfied but inefficient group.

Reason (R) : This type of leadership would determine the group policies or decisions without
consulting group members.

Code:
Options :

1394575445, Both (A) and (R) are correct.

(A) is correct, but (R) is incorrect.
91394372446,

(A) is incorrect, but (R) is correct.
91394372447,

sizgumzoqum: To v and (R e incoreed,

Question Nuinber : 112 Question Id : 91394318438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A= QY Fom R e E, il @ o aifiepem (A) # ot gga ok (R) % 1 Al 1 afge oft AR Ry g
e I AN B TG T AT |
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6

Options :

91394372445, NPT TAE |

(A) &t 3, g (R) Teid 2 |
91394372446,

(A) a2, WG (R) |t 2 |
91394372447,

91394372448, CAYR(RY ol e &)

Question Number : 113 Question Id : 91394318439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Temperature measurement on a Centigrade scale is an example of interval

scale.

Reason (R) : In an interval scale, the order of values is important and significant, but the
difference between the categories is not really known.

Code:
Options :

Both (A) and (R) are correct.
91394372449,

(A) is correct, but (R) is incorrect.
91394372450,

(A) is incorrect, but (R) is correct.
91394372451,

61394375455 Both (A) and (R) are incorrect.

Question Number : 113 Question Id : 91394318439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= <t A Rm e §, R & w i (A) R R @0 6 (R) B | FeEl i ufge o i faw e
%< T AN F e ST g |
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T (R) : a0 Jurt |, wrAt 1 560 Hgwqol 1 Iga gt 3, Wg Abmt & = o5t h
qredtae SRR & gt I |
B

Options :

91394372449, NP TNTAL |

A) s R)Tdd = |
91394372450, @ e, I B !

A) Teld &, R) |
91394372451, : %m( e

A) IR (R Tdd
91394372452, (&) 3R (B TR g

Question Number : 114 Question Id : 91394318440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Findings of a research based on a large sample size of a population being
studied can always be generalized to the whole population.

Reason (R) : Sample size does not ensure representativeness.

Code:
Options :

61394375459 Both (A) and (R) are correct.

(A) is correct, but (R) is incorrect.
91394372454,

(A) is incorrect, but (R) is correct.
91394372455,

—— Both (A) and (R) are incorrect.

Question Nuinber : 114 Question Id : 91394318440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A= QY Fom R e E, il @ o aifiepem (A) # ot gga ok (R) % 1 Al 1 afge oft AR Ry g

e I AN B TG T AT |
SF (A) : SHEET & T3 AHR & gy & 1eqg+ W aiia o Frsnet | ¢t sweem & fo
A9 IO Geg Freret 1 g | |
I (R) : Sfoes % R | vfafrearerssa ghiftea T8 Sidi 8 |
6
Options :
91394372453, {R}W(R}ﬁﬁ% |
A) ’ R)Tcid & |
91394372454, { H‘é?% e %
A) Ted &, R) |
91394372455, { % e '{TQ%
91394372456, <R}W(R}aﬁm% |
Sub-Section Number: 4
Sub-Section Id: 913943945
Question Shuffling Allowed : Yes

Question Number : 115 Question Id : 91394318441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Ouestion Option : No Option Orientation : Yertical
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Correct Marks : 2 Wrong Marks : 0

Arrange in correct sequence the steps involved in planning a community nutrition

programme.

(i) Setting goals and objectives

(ii) Programme implementation

(ili) Problem identification

(iv) Selecting intervention

(v) Monitoring and evaluation

(vi) Community needs assessment

Choose the correct answer from the code given below :

Code:

Options :

91394372457,

913943724583.

91394372459,

91294=724€0.

(vi), (i), (iv), (D, (id), (v)

(vi), (i), (iid), (ii), (iv), (v)

(iii), (i), (vi), (ii), (iv), (V)

(iii), (vi), (1), (iv), (ii), (v)

prepp
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Question Number : 115 Question Id : 91394318441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e % fore divor graeeft wriEa i Fiemn 1 aftifea o w ad A safen fifa |

(i) = IR e Fyifia =
() g™ SEifad e
(iii) LT F TWIH

(iv) e faf 1 ==

(v) Tl ofit e
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¥ Ry U Fe # | | I FA

B

Options :

91394372457.

(vi), (iii), (iv), (D), (id), (v)
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91294272458,

91394372459,

91394372460.

(vi), (1), (iii), (i), (iv), (v)

(iii), (i), (vi), (ii), (iv), (V)

(iii), (vi), (i), (v), (i), (v)

prepp
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Question Number : 116 Question Id ; 91394318442 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Arrange in correct sequence the occular manifestations of Vitamin A deficiency as per the

Xeropthalmia classification.

(i) Corneal xerosis

(i) Corneal scar

(ili) Conjunctival xerosis

(iv) Keratomalacia

(v)  Night blindness

Choose the correct answer from the code given below :

Code:

Options :

91394372461.

91394372462,

91394372463.

91394=724€4.

(iii), (v), (iv), (i), (ii)

(v), (iii), (i), (iv), (i)

(v), (), (iid), (iv), (ii)

(v), (iv), (iii), (), (ii)

Question Nuinber : 116 Question Id : 91394318442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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@t arfieor % sgar faafim v =i @ g1 Tl il i et f @ m= i

suafeya hifs |

(i) e TR

(i) T TR

(iii) efFeae RE

(iv) PEmARmE

(v) Tt

A9 Y T g 7 @ T WA IO

$e:
Options :
sisggsrsggy 0 U, O
91304370452, O D ), (W), (1)
91394372463 (v), (i), (iid), (iv), (ii)
Sisgaszongs O Wil AU

Question Number : 117 Question Id ;: 91394318443 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
Arrange the steps involved in Tea processing in the right sequence.
(i) Firing
(i) Withering
(iii) Fermentation
(iv) Rolling
(v) Sorting
(vi) Blending
(vii) Packing
Choose the correct answer from the code given below :

Code:
Options :
—— L L

ayssanroags O b 4 (0, U O, (o)
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sygsagrsany o o U () (V) v, (vl

sisedssngas e W (9 (v, ), (uld), (o)

Question Number : 117 Question Id ;: 91394318443 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

I % IoareA § witifer son i a3 § Saafer fif )

() AR

Gi)  ferefar

(iii) HETH

(iv) e

(v) it

(vi)  wAfST

(vii) T

A3 Ry e e # 3 W A g

I

Options :

g1sgas7ongs O WD U VIBRED (R
Sisadsreqgg O D G, (v); (RGEE, (V1)
91394372467, 0 49, UiD), (), (v), (v1), (vi)
—— kLol

Question Number : 118 Question Id : 91394318444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange in the correct sequence the Percentage method of recipe adjustment.
(i) Determine the total weight of the product needed.

(ii) Calculate the percentage of each ingredient in relation to total weight.
(ili) Convert all ingredients in recipe to gram unit and determine edible portion.
(iv) Check the ratio of ingredients which should be in proper balance.

(v) Multiply each percentage number by the total weight to give exact amount of the
ingredient needed.

(vi) Total the weight of ingredients using edible portion.
Choose the correct answer from the code given below :
Code:

Options :

91394372469, (), (i), (iv), (vi), (v), (iD

g13gagroazg  Drivh @, (v), (v), (D

91394372471, {mh (W.}: (11), (1), (V_}, (vi)

91394372472, s (VD (), (), (@), (v)

Question Nuinber : 118 Question Id : 91394318444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

oreh-Taftr wams <t wfowra fafer =t v s # =xafen fifg )

(i) SIS IE H Fel I9 i Hf |

(i) F& I99 % Ga-g § Y6 grft % i At morn Hifv |

(iii) reh-fafer & wsft qmfiet =t om w8 ® witafda i ok @rn s e w Faifa Fiv |
(iv) arEfiE st 9T Sie St 3fa ggas 7 2 =i |

(v) eI WE # wrlt h ad W $ % e e i 9t B $a 99 @ 1on Rk |
(vi) @R S ST 9T 6T SRR A 7 AmiR 1 Fe q9 Hif |

3 Ru e g2 # A wd 3w A 7fie
B
Options :

91394372469, (1), (i), Gv), (vi), (v), (ii)

91394372470, O (7D, @), (), (¥), (it)
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91294272471,

91394372472.

(iii), (iv), (ii), (i), (v), (vi)

(iii), (vi), (i), (iv), (1), (v)
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Question Number : 119 Question Id ;: 91394318445 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Arrange in correct sequence the stages of child birth.

(i) Transition

(ii) Dilation and effacement of the cervix

(iii) Pushing

(iv) Head emergence

(v) Delivery of placenta

Choose the correct answer from the code given below :

Code:

Options :

91394372473.

91394372474.

91394372475.

91384372476,

(1), (i), (iii), (iv), (v)

(ii), (1), (iid), (iv), (v)

(i), (iii), (i), (iv), (v)

(i), (1), (iii), (v), (iv)

Question Number : 119 Question Id : 91394318445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ry % 1 % =il a8 geaareua i |
(i) it

i) ol e i Baa ik R

(i) &=

(iv) QI

(v o Reah
¥ Ry o 3 § @ aE IR A g

$e:

Options :
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91294272473,

91394372474.

91394372475.

91394372476.

(D), (i), (iid), (iv), (v)

(ii), (), (iid), (iv), (v)

(ii), (iii), (D), (iv), (v)

(id), (1), (iid), (v), (iv)

prepp
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Question Number : 120 Question Id : 91394318446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange in correct sequence the attainment of language skills during infancy.

(i) Vocalization called babbling

(ii) Holophrases
(ili) Telegraphic speech

(iv) Series of vowel-consonant combinations called jargon

(v) Repetitive vowel sounds

Choose the correct answer from the code given below :

Code:

Options :

91394372477.

91384372478,

91394372479.

91394372430.

(v), (1), (iv), (iid), (ii)

(v), (1), (iv), (i), (iii)

(), (iv), (), (id), (iii)

(), (v), (i), (iv), (iii)

Question Number : 120 Question Id : 91394318446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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SSraTarEe 3 SR W91 Tl i I @ T 360 1§ geratera hifg |
() Tr=RT R gaa wE1 S

(i) o=

(iii) e W

(iv) TR AR e gt f gaen R s s S 2 |

(v) TE0a greft T et

13 R T 2 3 @ W IR P
$e:
Options :
91394372477, 7 B W), (D, @)
9123942372473 {?_}, (1)! '[1"?), (11): (iii)
91394372479 (v}’ (“‘TJI (1)1 (]1}, (m}
913294372420 <l-}’ (v)? (11): (l‘?), (m}

Question Number : 121 Question Id : 91394318447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Give the correct sequence of apparel production in the garment industry.

()  Marker making

(ii) Quality control

(iii) Grading

(iv) Production pattern

(v)  Assembly

(vi) Cutting

(vii) Scheduling

Choose the correct anawer from the code given below :

Code:
Options :

vii), (iv), (iid), (i), (vD), (v), (ii
913943272481, ( ( ( @, (v, (¥), @)

ayaus7gagy O DD, (vl Aval)
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913g43704g3, W (), (i, (v); (v1), (viD

spssasvasan o, G, . (o, (40, ()

Question Number : 121 Question Id ; 91394318447 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

T Taim & Fagt Seare 1 wd A G |
() =R

(ii) gvramﬁam

(i) wfem

(iv) Iedred Y

(v) FEst

(vi) wfen

(vi) e

R Ry MR 4 3 7 WA TP

w2
Options :
91394372431, (vid), (i), (iid), (1), (vi), (v), (ii)
91394372450, 7 (D, (), O, (v, (v1), (vil)
Sisoiassaday O U, v, D, Lv), (o), (V1)
91394372484 (vii), (iv), (iid), (i), (vi), (ii), (v)

Question Number : 122 Question Id : 91394318448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Give the correct sequence of making acrylic fiber.

(i)  Dissolving

(i) Filtering

(iii) Polymerisation

(iv) Drying

(v) Spinning

Choose the correct answer from the code given below :

Code:

Options :

91394=2724R5. {]11}, (l)! {:11)1 (?), (lv_}

i), (i), (iid), (v), (iv)
9139437246, W (i, (¥, (

91394372457, O (¥, ), @)

9123942372483 {]]1), (IJ! (11)1 (l\?), (v)

Question Number : 122 Question Id ;: 91394318448 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ufsnfers X SR w1 A s AR |
i) e
(i) OB
(i)  TEDIHO
(iv) g@mi
(v)  HraA
2 Ry T e 7 & & W g
6
Options :

91394372485 {]]1), (IJ! (11)1 (?}, (lv_}

91394372486, O (D (i (), (i)

913943724R7. {]1_}, (111), (IVJ, (v); (1}
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9139437245, 0 W 1D ), (V)

Question Numnber : 123 Question Id : 91394318449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Give the correct sequence of the step-wise approach for designing an effective workplace.
(i) Investigation and evaluation of workplace

(ii) Human performance analysis
(iii) Solution development
(iv) Initial evaluation

(v) Compile results and summaries

Choose the correct answer from the code given below :

Code:
Options :
iv), (v), (), (i), (i)
91394372459, () D) (D
ﬁi)? ii'.l ip V}, i‘r}
91394372400, 0 W0,
gragagoagy T W (D (1) D
i), (1), (iv i v), (iii)
91394372402, 0 (¥ (V)

Question Number : 123 Question Id : 91394318449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T TUT FrEl-vUer 1 AT AR A % Tore sormg IanT 1 98 s w415y |
() Hr-wa i S AR e
(i) FE Hr-Frere fgemo
(i) YA TFw™
(iv) ARIYF Yedre
(v) gfcomdi st g FET AR WIS T
= foT 10 2 # | W W H gAY
R

Options :

91394372489 {l?}, (VJ, (1)1 (]1), (m}
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91294272430,

91394372491.

91394372492,

(iii), (ii), (1), (v), (iv)

(iv), (1), (id), (v), (i)

(ii), (1), (v, (v), (i)

prepp
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Question Number : 124 Question Id ; 91394318450 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Arrange in correct sequence the steps for preparing a time schedule.
(i) List all items to be included, grouping under flexible and inflexible

(ii) Determine time sequence

(iii) Write out plan

(iv) Set down as accurate an estimate of time for each test as is obtainable
(v) Bring total estimated time needed and total available time into harmony

(vi) Merge individual plans with others for co-ordination
Choose the correct answer from the code given below :

Code:

Options :

91394372483.

913894372494,

913394372495,

91394372496,

(1), (iv), (v), (ii), (iii), (vi)

(i), (iid), (i), (), (v), (vi)

(iv), (i), (iD), (i), (v), (vi)

(vi), (1), (iid), (v), (ii), Gv)

Question Number : 124 Question Id : 91394318450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A TP AR F 3 Swil H ag 5 ° gegateaa Hif |
(i) wreEgR R HerEqR Tgt ¥ wied g av wifte wel i gt s

(i) G v i P
(iii) Ireem =i falae

(iv) Y s % fore srgmfaa srreavas awa i qond w9 ¥ 73 i
(v) & AT Aa7as a9 R Fa Iqaey awa | age faeny
(vi) TR % foQ safaara Fismn it g@d it e ° fren i

= i 7o 72 & & 7@ IW H AT

B

Options :

91394372493,

913943724594,

91394372495.

913943724096.

(), (iv), (v), (i), (iid), (vi)

(ii), (iii), (1), (iv), (v), (vi)

(iv), (iii), (i), (), (v), (vi)

(vi), (), (iii), (v), (ii), (iv)

prepp
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Question Number : 125 Question Id : 91394318451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following needs of an individual in the sequential order of motivation as given

by Maslow :

(i) Friendship, Affectional relationships

(ii) Security, Stability, Protection

(iii) Self-fulfillment

(iv) Food, Water, Air

(v) Self-respect, Achievement, Fame

Choose the correct answer from the code given below :

Code:

Options :

91394372497,

913943724983.

(iv), (i), (i), (v), (iii)

(iv), (1), (id), (v), (i)
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91394372409, 0 (I (), (W)

91394372500. {1‘?}, (ﬂ], (1)1 (v): (m}

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen,

Question Number : 125 Question Id ; 91394318451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

areAt grn < 3 Tt safem < FPeafeRae stawasaiett +it aifitkor 3 0 @ =aafm Hifsa
() T, @ q@g

(i) geam, o, aam
(i) FreR-qfd
(iv) WA, 96, 99

(v) ATCH-GRIH, Iqafe, a9

9 AT MU F2 # | T IW F I ;
B
Options :
91394372497 {1‘?}, (ﬂ], (1)1 (v): (m}
9123942372493 {l\?}, (l)! (11)1 (v), (i)
91394372499 {]]1), (11], (1)1 (V), (lv_}
91394372500, O W W (), (D)

Note: For this question, ambignity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 126 Question Id : 91394318452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange the steps of designing a communication strategy in sequential order.

(i) Formulation of communication goals

(i) Selection of communication methods and media
(iii) Planning communication activities

(iv) Evaluation of the strategy

(v) Analysis of audience

(vi) Designing the key message

Choose the correct answer from the code given below :
Code:

Options ;

91394372501 {IJ’ (].1), (v]‘)? (111), (V_}, (IVJ

91394372502, {V}, (I)a (11): {vl): (m}: I:IVJ

912394372503, {?}, (1)? (11): ﬁu}: (Vl_}, 'I:IVJ

91394372504 (IJ’ (v)! (11): (]]1}, (Vﬂ', 'I:IVJ

Question Number : 126 Question Id : 91394318452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ao WHifT HdIR HE ST s w9/ s3afeya il |
() S AL Bl AR FAT

(i) oy faftr e aredt w v
i) wvo wifafet B S s
(iv) R i

(v) srar % favewm

(vi) Y@ HCW 4R WA

e R e 2 A | w3 A g
%<

Options ;

gisgusoeg e, v, (i, (v), Gv)

912394372502, {‘J’_}, (1)! (11): (?1), (!]1}, 'I:IVJ
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91394379503, " s (), GiD, (v), (iv)

91394372504, (1), (v), (i), (iid), (vi), (iv)

Sub-Section Number: 5
Sub-Section Id: 913943946
Question Shuffling Allowed : Yes

Question Number : 127 Question Id ; 91394318453 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Match the tests given in List I with the detection of chemical compounds in List IT and
choose the correct answer from the code given below.

List I List II

(Test) (Chemical Compound)
(a) Seliwanoff’s Test (i) Free fatty acids
(b) Osazone Test (ii) Unsaturated fatty acids

(¢) Xanthoproteic Test (ili) Aromatic amino acids
(d) Micro-Kjeldahl Method (iv) Reducing sugars
(e) Acid Value (v) Riboflavin

(vi) Ketose sugars

(vii) Protein quantity

Code:
Options :
91394372505 (a)—(vi), (b)—(iv), (e)—(v), (d)(vii), (e)—(i)
91394379506, (a)—(vi), (b)—(iv), (e)—(iii), (d)(viD), ()i
91394379507 (a)—(v), (b)(iv), (e)—(iii), (d)—(vii), (e)—(i)
91394379508, (a)—(iv), (b)—(vi), (e)—(iii), (d)—(vii), (e)—(1)

Question Number : 127 Question Id : 91394318453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et 1 fou o e =t g2t 113 g 7y @ sie 9R 9 @t i @ fam S i

fie R m g # @ wdt swHA ghw
g1 et I
(o) (Tarates gifirs)

(a) AfarTe wlem () [ qE1-3vd
(b) AT wEm (ii) STETe THI-IHA
(¢) Vromides wlam (i) Wfes Wi Wes
(d) wipht Sesme ot (v) Rsafim gm
(e) e d7q (v) TgaErFifad

(vi) HEH PR

(vii) WA 6 9

e :
Options :

91394372505, (a)—(vi), (b)iv), (e)—(v), (d)—(vii), (e)-(i)

91394372506, {a}—{'\?l:l, {:b]—(l‘i?), (c}—{m}, '[:dj—{"?ﬂ), (&J—{l)

91394379507 (a)—(v), (b)—(iv), (e)—(iii), (d)—(vii), (e)—(i)

91394372508, (a)-(iv), (b)—(vi), (e)-(iii), (d)—(vii), (e)-(i)

Question Number : 128 Question Id : 91394318454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the terms given in List I with their explaination given in List II and choose the
correct answer from the code given below.

List I List IT

(Term) (Explanation)
(a) Varices (i) Complete lack of urine excretion
(b) Parasthesia (ii) High level of potassium in blood
(¢) Asphyxia (iii) High level of sodium in blood
(d) Hyperkalemia (iv) Numbnessin the limbs
(e) Anuria (v) Enlarged veins

(vi) Lack of oxygen

(vii) Excessive urine excretion

Code:
Options :

91394370509 BV (D), (0)=(D), (d)~(i), (e)~(viD)

91394379510, (a)—(v), (b)~(iv), (e)—(vi), (d)—(iD), (e)—(i)
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gragazyon]y oo V), (e-tvd); (d)-(it), (e)(vii)

91394372512, (a)—(vii), (b)—(iv), (e)—(vi), (d)—(ii), (e)—(i)

Question Number : 128 Question Id ; 91394318454 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

= 19 fou T wEi it g 11 9 & S saren @ e hifvn oft A9 g e ge # @ e I

i g |
g 1 gt 11
(w=) (aven)
(a) it () e faesa T o

(b) Tureefifemn (i) T ¥ qiefirm i Ak aEn
(¢) UfempfFaa (iii) T@a ® Tifeam & it o

(d) TEWFARET  (iv) TU-R g

(e) Wafen (v) w5 frrd
(vi) ATt < wH
(vii) srcaferen T3 A
B
Options :
a1zeuz7osey M Dn) (-G, (e{vil)

91394379510, (a)—(v), (b)~(iv), (e)—(vi), (d)—(iD), (e)—(i)

91394372511 -V (B-0¥), (A=), (d)-(it), (e)-LviD

91394379512 (a)—(vil), (b)—(iv), (e)(vi), (d)(ii), (e)—(i)

Question Number : 129 Question Id : 91394318455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the active ingredient given in List I with their food source given in List II and choose

the correct answer from the code given below,

List I

List 11

(Active Ingredient) (Food Source)
(a) Alpha Lipoic Acid () Almonds

(b) Flavonoids (i) Tomatoes
(¢) Lycopene (iii) Sea foods
(d) Glutathione (iv) Brown rice
(e) Selenium (v) Avocado
(vi) Potatoes
(vii) Garlic

Code:

Options :

91384372513.

91384372514.

91394372515.

91394372516.

(a)—(1), (b)—(vi), (e)=(ii), (d)—(iii), (e)—(iv)

(a)—(vii), (b)—(iv), (e)—(ii), (d)—(vi), (e)—(i)

(a)—(vi), (b)—(vii), (e)—(ii), (d)—(v), (e)(iii)

(a)—(vi), (b)—(vii), (e)—(ii), (d)—(iv), (e)~(v)

prepp
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Question Number : 129 Question Id : 91394318455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1% fou o wfer aord =t =t 11 9 ST 7 39e smeria-ata & firem hifsre ot = fou o e @

d adt W H g |
qA 1 gt I
(wfsha get) (sTrgréra-Hia)
(a) Ul fodlgh s () <™
(b) WASHIZSH (i) TR
(c) TEHGH (i) T @
(d) TR (iv) F TSH
(e) Thehifram (v) Udihat
(vi) 3T
(vii) <feg-
He:
Options :

912942725132,

91384372514.

(a)—(i), (b)—(vi), (e)—(ii), (d)—(iii), (e)—(iv)

(a)—(vii), (b)—(iv), (e)—(ii), (d)—(vi), (e)—(i)
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sragazroeys oV (-, ()i, (d)-(v), (a}-(iif)

91394372516, (a)—(vi), (b)—(vii), (e)—(ii), (d)—(iv), (e)—(v)

Question Number : 130 Question Id ; 91394318456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Match the deficiency disease symptoms in List I with their nutrients given in List IT and
choose the correct answer from the code given below.
List I List II
(Deficiency Disease Symptom) (Nutrient)
(a) Tetany (i) Ascorbic acid
(b) Angular Stomatitis (i) Retinol
(¢) Macrocytic-Normochromic Anaemia (iii) Iron
(d) Gingivitis (iv) Riboflavin
(e) Koilonychia (v) Calcium
(vi) Protein
(vii) Folic acid

Code:
Options :

91394370517 BV (B-), (©—(vid), (-, (o)D)

ayssas7osyg W (D-HEEEEE, (DR, (-(vi)

asads7oeyg W (-0, (i) (D (e)-(H)

sisadasesg Dy (D), (- (v, (d)-(i), ()1

Question Number : 130 Question Id : 91394318456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et 19 o g difvsmawt i @ S 9 I F aEon S et 10F 5T e 596 dvs-awl |
frem hifSe ofit i e e g2 3§ 3 s g |

i I —
(vitfe2es-awail < it | g ATt I 6 weron) (drye-aw)
(a) <t O e Wi
(b) TR RHeRRa G R
(¢) Teniftfes At it (iii) SeTa
L i (iv) TFEFAfEH
(®) (v) Ffeqam
(vi) WA
(vil) Bt e
C T
Options :
91394379517 (a)—(v), (b)—(iv), (e)—(vii), (d)—(1), (e)—(iii)
0130437051 BV V), (-G, (-, ()~(vii)
91394379519, (a)—(vi), (b)(ii), (e)—(vii), (d)—(1), (e)—(iii)
s1saasyessy A (v (o)- (R (IR (D

Question Number : 131 Question Id : 91394318457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the Foods given in List I with the Components given in List IT and choose the correct
answer from the code given below.

List I List II
(Food) (Component)
(a) Wine (i) Catechins
(b) Plum juice (ii) Lecithin
(¢) Green tea (iii) Pectin
(d) Mayonnaise (iv) Reseveratrol
(e) Salami (v) Sodium benzoate

(vi) Monosodium Glutamate
(vii) Sodium Nitrate

Code:
Options :

91394379521 (a)—(i), (b)(iid), (e)—(iv), (d)—(vi), (e)~(v)
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Srggaaroass oy (-0 (@19 Ad(v); (e

91394379523 (a)—(vi), (b)—(id), (e)(iii), (d)—(v), (e)—(vii)

91394372524, (a)—(iv), (b)—(v), (e)—(1), (d)—(ii), (e)—(vii)

Question Number : 131 Question Id ;: 91394318457 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

et 14 fou o et it e 119 g o west & frem Hifv oft = iy o g2 d @ adt s

T I g 11
(Tma-uad) (wz)
(a) ‘G’ () wefra
(b) FEERFW@ (i) SRR
(© 1fig F (iii) fFeA
(d) W (iv) gt
(e) Hewl (v) difeam F=see
(vi) HRA-wifeam eme
(vii) HifeTm g
$e:
Options :
91394372521, (a)-(1), (b)—(iii), (e)-(iv), (d)—(vi), (e)(v)
9139437950y i) (B-(D, ©-iv), (d-(v), (&)-6)
91394370553 (a)—(vi), (b)—(ii), (e)—(iii), (d)—(v), (e)—(vii)
sysaagssesy - e, (A, ()i

Question Number : 132 Question Id : 91394318458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the abbreviations in List I with terms in List IT and choose the correct answer from

the code given below.
(Abbreviation) (Term)
(2) BARS (i) Production
(b) BEP (i) Purchasing
(¢) MTO (ili) Ewvaluation
ol R (iv) Budgeting
(e) PERT (v) Appraisal
(vi) Cost Control
(vil) Marketing
Code:
Options :
). (b)Y 5 )
01304370505 D, (M=¥), (), (-, ()~(viD)
b . . d uld .
grsgaaysesg | o (B (-0, (-G, (o))
ii), (b i d)—G .
91394379557 (a)—(ii), (b)—(vi), (e)—(v), (d)—(iv), (e)—(i)
91394379558 (a)—(iv), (b)—{(vi), (e)—(1), (d)—(vii), (e)—(ii)

Question Number : 132 Question Id : 91394318458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tt 19 Weg-wE 1 gt 11t 7l & fremm hifse o = fag e e § & w8 I A gfm )

g1 gt I
(Fr=3-44w) (W=)
(a) W.TARTE. (i) I
(b) 3.9 (i) 9
(¢ w3, (iii) HEATRA
(d) TH. 054 (iv) & SHAT
(e) H.3amA. (v) e
(vi) @rTa e
(vii) Terqom
6
Options :

91394372525, {a}_(m)r (b)—(l‘?), {C}—{V:’, {:d)_(l}: (E)—(Vﬂ}

sissdssaesg 0 D), (-, (e)-U1)
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91294272527,

91394372528.

(a)—(ii), (b)—(vi), (e)—(v), (d)(iv), (e)—1)

(a)—(iv), (b)—{(vi), (e)-(i), (d)—(vii), (e)—(ii)
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Question Number : 133 Question Id ; 91394318459 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes

Single Line Question

Option : No Option Orientation ; Vertical

Correct Marks ;: 2 Wrong Marks ;

Match the theorists in List I with key concepts in List IT and choose the correct answer from

the code given below.
List I List IT
(Theorist) (Key Concept)
(a) Piaget (i) Life structure
(b) Bronfenbrenner (ii) Permissive style

(¢) Levinson
(d) Baumrind
(e) Gardner

Code:

Options :

913894372528.

91394372530.

91394372531.

91384372532

(iii) Assimilation

(iv) Ecosystem

(v) Stimulus-response
(vi) Multiple intelligences

(a)-(iii), (b)—(iv), (e)—(1), (d)—v), (e)—(vi)

(a)—(v), (b)-{iii), (e)—(1), (d)—(ii), (e)—(iv)

(a)-(iii), (b)(iv), (c)-(i), (d)—(ii), (e)—(vi)

(a)-(iid), (b)—(iv), (c)—(v), (d)-(i), (e)—(vi)

Question Number : 133 Question Id : 91394318459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et 1% Rrgrasrt ot g2t 11 6t @ sraumnsdi @ frem $ifsg ok = fqg m 52 4 @ a@dt s =t

Options :

913843725289,

91394372530.

91394372531.

91394372532.

gt IO
(Y@ SrAURT)
() " g
(i) Iqrfter St
(iii) THH
(iv) grfefefaeh o=

(v) -l
(vi) wgfag gig

(a)-(iii), (b)—(iv), (e)—(1), (d)—(v), (e)—(vi)

(a)—(v), (b)-{iii), (e)—(1), (d)—(ii), (e)—(iv)

(a)-(ii), (b)—(iv), (e)-(i), (d)ii), (e)—(vi)

(a)-(iii), (b)iv), (c)—(v), (d)—(i), (e)—(vi)
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Question Number : 134 Question Id : 91394318460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the Reflexes in List I with the Responses in List IT and choose the correct answer

from the code given below.
List I List IT
(Reflex) (Response)
(a) Rooting

(b) Moro

(i) Throw arms outwards and then bring them towards the body
(ii) Head turns towards source of stimulus

(¢) Withdrawal (iii) Fencing position

(d) Babinski

(iv) Foot withdraws with flexion of knee

(e) Tonicneck (v) Toes fan out and curl

Code :

Options :

91394372533.

91394372534.

91394372535.

(vi) Infant sucks

(a)-(ii), (b)—(1), (e)—(iv), (d)—(v), (e)—(iii)

(a)-(ii), (b)—(1), (e)—(iv), (d)—(iii), (e)—(v)

(a)—(ii), (b)—(i), (e)iii), (d)—(vi), (e)(iv)
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b, by, (el (v ()i
91394370536, 2~ W (i), (A-{iv), (d)-(vD), (e)(iti)

Question Numnber : 134 Question Id : 91394318460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1 il 1 gt 116 sfmanett @ firem hifvrg it = fow T e @ | @) s =t g |
T 1 g I
(wfaerd) (argfowar)
(a) ®fm () ST AR Ty Farar B 3k 538 vt Hi A A 2
(b) W (i) I QT A TG 2
(00 Taegiom (i) @=ma 6 &afa
(d) wfeeh (iv) Yo Wig % W Rprs o 2
(e) AFFIF (v) T Had ¥ sz 7
(vi) T wE = @
$e:
Options :

91394z70czg A, (D), (@), (d)~(v), (e)(ii)

91394372534, (a)-(ii), (b)—(1), (e)—(iv), (d)—(iii), (e)—(v)

91394372535, (a)-(ii), (b)—(1), (e)iid), (d)—(vi), (e)—(iv)

sisgaassesg @, G-I, (BRI, =0

Question Number : 135 Question Id ;: 91394318461 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Neo Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

Match the age in List I with the motor skills achieved in List IT and choose the correct
answer from the code given below.

List I List I1

(Age) (Motor Skill)
(a) 2 -3 years (i) Fastens and unfastens large buttons
(b) 3 —4 years (ii) Puts on and removes simple clothing

(¢) 4—b5 years (iii) Ties shoe laces
(d) 5 —6 years (iv) Copies numbers from 1 — 50

(v) Copies triangle and cross

Code:

Options :

sisaEgaEny  rily (hel), (a-tw), (-0



www.prepp.in .repp

Your Personal Exams Guide

91364370535 2~ 1-0), (-}, (d)-(iiD)

sjasasvaEgs o (v -0, (- 01)

91394379540, D (B, (-(iv), (-GiiD)

Question Number : 135 Question Id ;: 91394318461 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

= 1t 3y & =t 11 h wifaeht fradt st firem hifrg ik = o T e 7 @ &€ I i g |
qA1 g I
(smg) (rfrhy fowam)
(a) 2-39 (i) TS WA T AR G ol B
(b) 3-4a8 (i) G 957 IgT I IaTE
(0 4-5a (iii) St % Fra sfeAn
(d) 5-6a4 (iv) 18 50 7 A g @ = foram
(v) T it g $&@ =

e :
Options :

gysgaseny iy (-, (e-e i)

91394372538, (a)—(ii), (b)—(i), (e)(iv), (d)—(iii)

sisaiasegy U Bxm), D, D))

91394379540, @D (-G, (-(v), (DD

Question Nuinber : 136 Question Id : 91394318462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the terms given in List I with the description given in List IT and choose the correct
answer from the code given below.

List I List IT
(Term) (Description)
(a) Savile Row (i) Italian couture
(b) Seventh Avenue (ii) Ready-to-wear
(¢) Idea Coma (iii) Street in London famous for its men’s tailors
(d) Moda Pronta (iv) Term used to represent entire garment district in New York

(v) Italian fabric producers’ trade fair
Code:
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Options :

sigaaamsngy (S (i), (o)), (d-(v)

91394379542 (a)-(1), (b)—iii), (c)—(iv), (d)—(v)

91394379543, ) (B-(9), ()-GiiD), (d)-0)

sissqasaegy U (b-v) (0-v), (dr(i)

Question Number : 136 Question Id : 91394318462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g\;ﬁqﬁﬁqwﬁm@Ilﬁmmﬁwﬁﬂmﬁzﬁr&mﬁtﬁﬁqmﬁﬁﬁaﬁmﬁ
|

e I e I

(%) (Fereror)
(a) e (i) geelt 1 H
(b) AI¥ WY (i) WEHA 9y Feufa |
(¢) M am (i) & i welt St gEsi e  fore faerma 2
(d) wreT S (iv) 98 95 St = qih & W 964 Tt o fore sy i 2

(v) el % aea Fmimett %1 samr den

R
Options :

o139ug7o5qy Ui, (0)-(1v); (CRMEHD-(v)

91394379542 (a)-(1), (b)—iii), (c)—(iv), (d)—(v)

91394370543, 2 (D), (@i, (-

sissqasaegy U (b-v) (0-v), (dr(i)

Question Number : 137 Question Id : 91394318463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the terms given in List I with the places given in List IT and choose the correct
answer from the code given below.

List I List I1

(Term) (Place)
(a) Phad (i) Orissa
(b) Pichhwais (ii) Andhra Pradesh
(¢) Patachitra (iii) Nathdwara

(d) Chaitra Gauri Pata (iv) Joshi Chipas
(v) Maharashtra

Code:

Options :

01294370545 B (WD, (-(v), (d)-(iv)

91394379546, (a)—(iv), (b){iii), (e)—(i), (d)~(v)

91394372548, (a)—(ii), (b)(iid), (e)(v), (d)—{iv)

Question Number : 137 Question Id : 91394318463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 139 fou o o g 11 9 Ry e v @ frem hif ot 9 g o g2 § @ wd swoa

gig |
T I T I
(72) ()
(a) %3 @ aifem
(b) Trearia (i) g Ty
(¢ WA (i) TAGRT
(@ WHw  (Gv) S
(v) WEsg
$e:
Options ;
ayggagzoys - B0, i-w), td)-(v)
siggarsege  -unh DHED @, (dv)
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srggaaronyg - (=) @) 4d)x-U9)

Question Numnber : 138 Question Id : 91394318464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the properties of fibres given in List I with the correct units given in List IT and
choose the correct answer from the code given below.

List I List II

(Properties of Fibre) (Correct Unit)
(a) Staple fibre length (i) Grams per denier

(b) Filament length (ii) Tex
(¢) Fibre diameter (iii) Metre
(d) Tenacity (iv) Centimetres

(v) Microns

Code:
Options :

*, b 3 ! as A d -
sgaaaronge W I, (e, d)-(iif)

91394379550, (a)(iv), (b)iii), (e)—(v), (d)—(i)

91394572551, U (B)-UH, (e)-GEd)-UD

Question Number : 13§ Question Id : 91394318464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

et 19 fT T @ < 7t gt 19 e 9 o6 | e i R S Ry e ge 9 | w=/

I @t g |

g 1 gt I

(@ & 7on) (vt 7rs)
(a) WU BIFR TaATE @ g w3
(b) Temic dam (i) <=4
(¢) Q@ =™ (iii) X
(d) Tedl (iv) Géfiex

(v) WTEHI|
C &
Options :
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giagazroesy v (B, (O-(v); (d-()

sisgdasaesy U (D, (0-(v), ()]

S1zaaszassy T abpABl-LeR (il

Question Number : 139 Question Id ; 91394318465 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Match the core disciplines in List I with their meanings in List IT and choose the correct
answer from the code given below,

List I List II
(Discipline) (Meaning)
(a) Anatomy (i) Measurement of human body dimensions

(b) Anthropometry (ii) Study of internal and external body structures
(¢) Biomechanics (iii) Understanding the cognitive aspects of human interaction
(d) Cognition (iv) Concerned with mechanical elements of living organisms
(v) Study of human reasoning, thoughts and actions
(vi) To develop appropriate tools facility and equipment designs

Code:
Options :

gigasrocey Ul (-0, (o0, (QEED

sissgasseey @ (-0, (OREERUA(v)

ayReus7gsss ey BT I dr(d)

grsgiayoneg - -0, (e-tw), (d)-(v)

Question Number : 139 Question Id ;: 91394318465 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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T 1% e foret ot =t 11 9 99 oref & e Aifdrg ofi i fa T e # @ wdt s gi
g I e I
(forea) (ardl)
(a) AL (i) WS TR % A=A AT
(b) THNWE (i) e IR e Wi TrEAnett # e
(c) WA (iil) W 3fa:TraT % TFToTs TEgstt i augH
(d) A (iv) G0 Sfiat % gihe Tl § et
(v) W g, o=t o frmst & srere
(vi) J9gFa iR glaen it Ieson Afterea fasiaa s

e
Options :

oyzsanzsesy: | -aUibED, (e-te), (d)-(v)

siagazrocey W 0D, @) (dD-(v)

siugiasea WU, (-G, (c)-(i), (di=(vi)

Question Number : 140 Question Id ;: 91394318466 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

In an effective organisation, communication flows in various directions. Match the types of
communication in List I with their explanation in List IT and choose the correct answer from
the code given below.

List I List IT
(Type of Communication) (Explanation)
(a) Downward communication (i) Travels from subordinates to superior
(b) Upward communication (ii) Horizontal and diagonal flow of information

(¢) Crosswise communication  (iii) Flows from people at higher levels to those at
lower levels

{(d) Oral communication (iv) Use of written communiecation for formal and
informal notes

(v) Information is communicated orally

Code:
Options :

aysganrossy  -ail (DD, (-, «D-(v)

grganseesy ool (-0, (-0, (d-(v)
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siggaayseey vy k-G (e- (U, td)-giD

sisaasray (00D (o), (d)-v)

Question Number : 140 Question Id ;: 91394318466 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

T T A A, Timor i vare fafte fenedt # g ® 1 ot 1% s 3 e o Eh 118 o
frercont & T AifSre it i Re 7o ge | @ o 3w = ghe |

gt I it 11
(|9 &% TER) (Teraon)

(a) SeigEft Tiwor (i) orfie | I T 9 WAl 2

(b) FedqEt WO (ii) g w1 Hiaw A ol yarg

(c) SHITATEH U0 (ifi) I T o WM & et T 9 o il 9 Yarg

(d) Hiflash a¥mor  (iv) ftvnite ik eHivnier gargt o fore ferfaa asmor st s
(v) go itfas &9 &/ § St 2

si56dssssey (Ui, ()=, (e)-tiD), (d)-E0

orzgagzossg -l (-0 (Ol (L)

gigda7oceg U D), G (d)-(i)

siggdarasgy T o -0, (00 (N

Question Number : 141 Question Id : 91394318467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the terms given in List I with the items given in List IT and choose the correct answer

from the code given below.
List I List II
(Term) (Item)
(a) Leadership (i) Voice of the customer
(b) Customer focus (ii) Strategic direction
(¢) Planning for improvement (iii) Employee satisfaction outcomes
(d) People focus (iv) Partnering outcomes
(e) Supplier focus (v) Process control

(vi) Assessment outcomes

Code:

Options :
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giggazyoegy o0 ), (O, (d)-(v); (a)-(¥i)

91394372562 (a)-(i1), (B)—1), (e)—(vi), (d){iii), (e)—(iv)

9139437056y A (=i, (€)-D, (D—(v), (e)~(vD

91394379564, (a)—(iii), (b)—(v), (e)—(iv), (d)—(vi), (e)—(i)

Question Number : 141 Question Id : 91394318467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 19 fow o w6t ah 119 R o wEt @ R i ik 9 g o e @ vl oA

g |
T I e 11
(%) (=)
(2) S () TTEH N T
(b) e I (i) o feam
(c) G A (i) e Hgfe aRom
(d) S BiFH (iv) fterd oo
(e) mffwaiwma  (v) WhEm
(vi) TR it
C T
Options :
srzansvoegy Wb, (O-NgHED-()(e)~vD
oisads7ogas D, (B, ()-(v), (-1, (e)=(iv)
0139437055z B0 (b)-GiD, (@), (D), e)-(vi)
01394370564 U B-), (@), (DAvi), ()0

Question Number : 142 Question Id ;: 91394318468 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the names of social activists given in List I with the area of work they are associated
with given in List II and choose the correct answer from the code given below.

List I

(Social Activist)
(a) Medha Patkar
(b) Verghese Kurien
(¢) Rajendra Singh
(d) Ela Bhatt
(e) Aruna Roy

Code:

Options :

(i)
(i1)
(iid)
(iv)
(v)
(vi)

List IT

(Area of work)

Milk Cooperatives
Women Empowerment
Dams and Rehabilitation
Right to Work

Right to Entertainment
Right to Education

(vii) Conservation of Water Bodies

(a)-(iii), (b)—(vD), (e)-(i), (d)—(ii), (e)—(iv)

91384372565.

(a)—(iii), (b)—(vii), (e)—(v), (d)—(ii), (e)—(iv)

91394372566.

(a)-(iid), (b)-(i), (c)—(vid), (d)—(id), (e)—(iv)

91394372567.

(a)—(1), (b)), (¢)—(vii), (d)—(ii), (e)(v)

91394372563.

prepp
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Question Number : 142 Question Id : 91394318468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 14 fgu o wrmfors Frlwata % am o gt 11 3 fou mu @ gafta -89 % oy fem i

fre afit = fi o e 7 | T s gh
q 1 e 10
(e wriwat) (- &)
(a) R IRH () 9 FEHIAT
(b) e FHiEH (ii) wigen T
(¢) TG Tom (if) =g IR gFai|
(d) T W3 (iv) %M Hi AfHR
(e) 380N TH (v) WAET S AR
(vi) Toem =1 rfereen
(vii) ST 1 T
G
Options :

(a)—(iii), (b)—(vi), (c)—(1), (d)—(ii), (e)—(iv)

913294272565,

(a)—(iii), (b)—(vii), (e)—(v), (d)—(ii), (e)—(iv)

91394372566.
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sragazroagy b (B, (e-(eil), (d)-(), (a)-(9)

sisegassegs @ W), (c-tvil), (d)-(i), (eilv)

Question Number : 143 Question Id ; 91394318469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Match the initiatives given in List I with the years of their launch given in List IT and
choose the correct answer from the code given below.

List I List II
(Initiative) (Year of Launch)

(a) National Health Mission (1) 1988 — 89
(b) National Nuftrition Mission (ii) 2014 —15
(¢) National Literacy Mission (i) 2017 — 18

(d) National Rural Livelihood (iv) 2005 - 06
Mission

(e) National Rural Employment (v) 2010-11
Guarantee Act

(vi) 2001 -02
(vii) 1998 — 99

Code:

Options :

01304370560 D, (M=(ViD), (-, (D~(v), (e)-(iv)

orzgagzoeyy | oy (B EERR()-(v), (Q511)

1394379571 DD, (0D, ()-(vi), (d)—(iv), (e)-(v)

91394379572 (a)-iii), (b)—(vi), (e)-(ii), (d)—(iv), (e)(v)

Question Nuinber : 143 Question Id : 91394318469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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gt 13 Ry T v gt 113 g T IS o 3 et & Prem B sk A R g §

gt I H T |
qH I gt I
(vE=) (orta % )
(a) T e A (i) 1988 -89
(b) st wiwer e (i) 2014 - 15
(¢) U et frem (iii) 2017 - 18

(d) T yfior srrfifersmt Brem (iv) 2006 - 06

(v) Ui d R TRE (v) 2010 - 11
arfrfrem

(vi) 2001 - 02
(vii) 1998 — 99

%2
Options :

sisgugyosEy o chb (B fe)Hili () (oGl

91394372570. (a)—(ii), (b)—(iii), (c)-(1), (d)~(v), (e)—(iv)

a1gaazzos7y 0Ty (B, (O(viD), (dAEv(ERLY)

0130457057 (D, BV, (O, (d-(iv), (e)-Lv)

Question Number : 144 Question Id ;: 91394318470 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Match the items given in List I with their suitable examples given in List II and choose the
correct answer from the code given below.

List I List IT
(Item) (Example)
(a) First Generation Media (i) Film-strips
(b) Second Generation Media (ii) Chalk board
(¢) Third Generation Media (iii) Printed graphics
(d) Fourth Generation Media (iv) Bulletin board
(v) Programmed instruction

(vi) Charts
Code:
Options :
91394372573, B (V) (), (©-L1v), (i)

siggagyoeza B (B-(eli (e}-i); (d)-(iv)
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g13g437057s B0 (DD, (o-1), (d)-(v)

sissgasaesg k-, O-w), (D

Question Number : 144 Question Id ;: 91394318470 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

=it 19 fou mu wEt e 11 9 fo o 37 S Sawwi % @y R fifg ot A9 R o e d

q adt W # g |
qet I et 1
(w=) (33TEn)

(a) vgeht i 1 dfifen (i) Treu-fem

(b) TEd it =1 dfifem (i) =i 9@

(¢) diad 9t = s (iii) FfEa miaa

(d) <eft it = ofifea (iv) gafe A2
(v) SRS 3T
(vi) =

R
Options :

siggdasseyg @l ), - 801

91394372574, (a)-iii), (b)—(vi), (e)—(ii), (d)—(iv)

grsgaayonys VD (hHD, (CFGD-(v

sissgasaesg k-, O-w), (D

Question Number : 145 Question Id : 91394318471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the description of Research Report given in List I with the Report Section given in
List 1T and choose the correct answer from the code given below.

List I List II
(Description of Research Report) (Report Section)
(a) Procedure of investigation (i) Review of literature

(b) Section of tables of subsidiary matter at (ii) Abstract
the end of document

(¢) Systematic collation of published (iii) Methodology
research work related to study topic

(d) List of all sources used for your research  (iv) Bibliography
(v) Appendix

Code :

Options :

91394372577, <a}_{1ﬂs (b)—{?), (CJ_{I); (d}—(l‘f}

sizsEyesTa T R AR

grsgiayoerg o (b (0-0, (d)-(v)

ssedsyoesy U (-0, (-0, (d)-48

Question Number : 145 Question Id : 91394318471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 13 4 7 s T 3 Ry 9 g 1 Ry o Rl ave @ i AR sk A3 Ry

% o B TE I A g |
qH I qet I
(srgEum feare s ferawor) (Rare @vz)
(a) r=wur st fen () afeca < wfign
(b) AW % o ° g arnft fr arfrd ) §R
I RC LK
() ea-faey ¥ 92 v Eu™ S (i) Sorreft ferrr
1 geaateura aiger
(d) TRk FEIH * fore s avh wial (iv) Tt
g
(v) uftfirse
e :
Options :

91394372577, <a}_{1ﬂ! (b)—(‘?), (CJ_{].L (d)—(l‘."}

91394370575, 2t (B=V): (e)-(iv), (d)-0)
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51354370579 2 WD; (B}-(¥); (-0, (d)-(iv)

sisegssaeag @ W (P, (-1, (d-lv)

Question Number : 146 Question Id ;: 91394318472 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Match the terms given in List I with their explaination given in List II
and choose the correct answer from the code given below.

List I List IT

(Term) (Explanation)
(a) Type I error (i)  95% of area under curve
(b) Hp:p=0 (ii)  Accepting Hy when it is false
(¢) X +280D. (iii) Rejecting Hy when it is true
(d)  Chi-square test (iv) Two-tailed test

(v)  Non-parametric test
(vi) One-tailed test

Code :
Options :

91394372581, (a)—(ii), (b)—(iv), (c)—(1), (d)«(v)

sizaas7ongy o viD; (b)-UEEEEE, ()-(v)

sisadsvangy B (h-vD), (-, W)

g1gguszosgs Aty (Bl(vl) k0w, (d)-t)

Question Number : 146 Question Id : 91394318472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et 18 fou e wgif ot et 114 fou e forereor & gifera <hfor ofe A fow g e

4 4 adl I 6l g |
qlt I Tt 11
(7=) (Forazon)
(a) 2muIFR (1)  95% & 9 & AT
(b) Hp:p=0 (ii) o Terd 81, 9 Hg %l Wier HE
(0 X +2S8D. (i) = W&l g, q1 Hy &l 3wishi &0
(d)  HE-TFIER % (iv) oo e®
(v) JA3mREs o=
(vi) aA-des =
%e .
Options :

91394372581, (a)—(ii}, (b)—(iv), (e)—(1), (d)«(v)

91394379550 Ui (B)-(), (©-0), (D~(v)

91394379583 (a)—(ii), (b)—(vi), (e)(1), (d)~(v)

e—— e e LR R

Sub-Section Number: 6
Sub-Section Id: 01390439047
Question Shuffling Allowed : Yes

Question Id : 91394318473 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (147 to 150)
Question Label : CDmpI'EhEHSiGH
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Read the passage given below and answer.

India is committed to education as a basic human right. It necessarily entails values,
knowledge and skills that revolve around the basic principles of non-discrimination,
participation and equality. Development goals, therefore, must facilitate a process that
enables all learners, including girls to take charge of their lives and make meaningful
contribution to their communities. It entails providing equality of opportunities and right to
education to both girls and boys so that they can be offered the same chance to access
school. To achieve this, it is important to make education free of cost, design appropriate
curriculum, reduce distance and provide water and sanitation facilities.

The State should ensure that there are sufficient female teachers to support and act as
role-models for girls. All teachers should be trained to understand the issues of social and
gender discrimination. They should be sensitized to policies that protect children from
harassment, abuse, violence, including gender based violence. The State should work

towards abolishing discriminatory laws, customs, practices and institutional processes to
achieve gender equity in education.

Sub questions

Question Number : 147 Question Id : 91394318474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What are the main issues that dissuade girls from continuing education in school ?

(i) Schools not having adequate facilities of sanitation and toilets
(ii) Teacher gender ratio biased towards male

(iii) Compulsory wearing of school uniform

(iv) Lack of electricity in school

Choose the correct answer from the code given below :

Code:

Options :

91394370585, ) and ()

91394370586, O and (i)

91394370557 ) and (V)
—p

913943705gg, o and (i)

Question Number : 148 Question Id ; 91394318475 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Education should be based on principles of
(i) non-discrimination

(ii) gender bias

(iii) participation

(iv) equality
Choose the correct answer from the code given below :
Code:
Options :
i), (ii) and (iii
913943725889. D i
i), (i) and (iv
91394372590, ;a0 )
i), (iii) and (iv
91394372591, (0, i )
ii), (iii) and (iv
91394372592, (&), () (i)

Question Number : 149 Question Id : 91394318476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Both boys and girls should be offered the same chance to access school.

Reason (R) : India is committed to provide education as a fundamental right.

Code:
Options :
91394575683 Both (A) and (R) are correct.
(A) is correct, but (R) is incorrect.
91394372594,
(A) is incorrect, but (R) is correct.
91394372595,
— Both (A) and (R) are incorrect.

Question Number : 150 Question Id ; 91394318477 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Only women teachers must be trained to support issues of social justice and
gender equity.

Reason (R) : Only women teachers can understand the issues and challenges faced by girls.

Code:
Options :

61394375E57 Both (A) and (R) are correct.

(A) is correct, but (R) is incorrect.
913943725983,

(A) is incorrect, but (R) is correct.
91394372598,

91394375600, Both (A) and (R) are incorrect.

Question Id : 91394318473 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (147 to 150)
Question Label : CDmpI'EhEHSi'DH

e I3y 7g uftey %1 aide sik sme &l |

W T giane) wa 2After % w9 # e & uft q=mag 2 | 35 Taves §9 @ 9 49, 79 3R
Five AIRT & St Hewma-1Ra, sRran ot aame % ghare figal w st g | safe e
% wedl w P T 9w Yt whem wt g wam iRy A weft afta o't el
e FTT 3 37 37 ggerEl § grd AhreE % e SR | 3e T 97 orevae § e el
IR wrsfwat gt &t e #1 PR iR sraa i Tamar e @ife % e 9 &1 aue s
gred & 1 3/ eq e o fore e it Frgrees semn e, Syge wrewshn 99, gt wer it sta
a1 T=odl 9Tl JqH FAT TeE 2 |

T2 i qg gHfTaa wen =iiee o sreniuswistt it wen wica gt 3 asiaal Hi 79gg = T AR
37 foru Sron-gra 5= a@oh | ot fernt st amfies it S Yewra % el i gusA % T wfdaor
feem S =Tfiw | 378 S Sfifeet % o § wdeTiia SR S e Stast B Iwfigd, geiaEn it
fem smefea fem afya fGan @ geen @ wedt B | Fogor 3 s T siea 41 % 989 ¥ TR
i HEHTIHRE Frt, Rarst, s R aemra it st garea 1 i fem & ek Fen =nfze |

Sub questions

Question Number : 147 Question Id ;: 91394318474 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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for @ ot | wrsfenat whelt e s w@m % foe gdtcnfed Bidt 2 2
(i) THal # e IR Yered i waica gl w4 g

(i) fneres o srgara & geut & snftrr

(iii) THet B Tg3 <l reaa

(iv) Trai # Taoreft @ s

= o T 3z # & wd W # g

He:
Options :

91394370585, 3R (i)

91394372586 (0 3R (i)

91394370587, 3R (iv)

(i) 3R (iii)
913943725883,

Question Number : 148 Question Id : 91394318475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fran =+t Frfafas @ B Rrgrat w emarfa g =nf 2
() AR
(i) < dewE
(iii)  Sfersfira
(iv) G
Fr fg e %2 4 A W Sw H g
e
Options :

(i), (i) 2 (iii)
91394372583,

ey (1), (i) 3 (iv)

(1), (iii) 3 (iv)
912394272591,

(i), (iii) ¥ (iv)
91394372592,
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Question Nuinber : 149 Question Id : 91394318476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e @t oy fGg 7 g, Ford @ T iR (A) B 3t @0 @ (R) @ | oAl =l gy ok = fig e
FHC I A F TE IR AT |

HFUT (A) : Aght AR weferat A1t Tpa S H1 TuF A8 fren =nfee |

a% (R) : Wia et TR % &9 | Tt wg@ % & g asag 2 |

%<
Options :

51394372595, NP TNTAE |

A) y (R)Tdd = |
91394372594, { Hﬁ’l%’q’@ ?

A) TEd 2, R l
91394372595, { LA IR

91394372596, CRYAR AR TR )

Question Number : 150 Question Id ; 91394318477 (Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

= S = g T &, B & o e (A) @ 3R @0 76 (R) B | Al it afen i e fog e
% 1 TN F TE SR G |

e (A) : Tad sremfemiedt ot amifoes = ofik A waman & el &t awefa 33 & forg
v wiverer feam s =R |

a% (R) : Tad srenfierd § wsfwal & aue M areh Hfergat ot gHtfest =t awsr aodt § |

R
Options :

51394372597, NP TATAE |

A) 3 R)TeAd = |
913894372598. W R !

A) T B, R [
91394372599 { R IR

91394372600. (&) 3R (R) Hl 70 € |



